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CHILDREN! THESE INSTRUCTIONS FOR YOU...

For each and every conceptual understanding, a real life context with appropriate
illustrations are given in the textbook. Try to understand the concept through keen
reading of context along with observation of illustration.

While understanding the concepts through activities, some doubts may arise. Clarify
those doubts by through discussion with your friends and teachers, understand the
mathematical concepts without any doubts.

"Do this/Do these" exercises are given to test yourself, how far the concept has
been understood. If you are facing any difficulty in solving problems in these
exercises, you can clarify them by discussing with your teacher.

The problems given in "Try this/try these", can be solved by reasoning, thinking
creatively and extensively. When you face difficulty in solving these problems,
you can take the help of your friends and teachers.

The activities or discussion points given "Think & disicuss" have been given for
extensive understanding of the concept by thinking critically. These activities should
be solved by discussions with your fellow students and teachers.

Different typs of problems with different concepts discussed in the chapter are
given in an "Exercise" given at the end of the concept/chapter. Try to solve these
problems by yourself at home or leisure time in school.

The purpose of "Do this"/do these", and "Try this/try these" exercises is to solve
problems in the presence of teacher only in the class itself.

Where ever the "project works" are given in the textbook, you should conduct
them in groups. But the reports of project works should be submitted individually.

Try to solve the problems given as homework on the day itself. Clarify your
doubts and make corrections also on the day itself by discussions with your teachers.

Try to collect more problems or make new problems on the concepts learnt and
show them to your teachers and fellow students.

Try to collect more puzzles, games and interesting things related to mathematical
concepts and share with your friends and teachers.

Do not confine mathematical conceptual understanding to only classroom. But, try
to relate them with your suroundings outside the classroom.

Student must solve problems, give reasons and make proofs, be able to
communicate mathematically, connect concepts to understand more concepts &
solve problems and able to represent in mathematics learning.

Whenever you face difficulty in achieving above competencies/skills/standards,
you may take the help of your teachers.
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1701 T AFETE FAEIGA 7Tk AT A SHEURT Teh SO
ATe. TureTu= v sTemEE siogd 99 araRuETe] GHSIH GeieR fareTur=
TG FOATET 3R T8 I« TAtHe e qefae aRuam=l SaeeR]
qq]. AT TERIG AT fIeTonet arEten foral aaaneRy sRudrE] =il
T, Areafie sTae soadul foRaTiire T TeaTd Aol Se WAfHe
HEET FEEIAT EdqiE A A e, AT SEedd anel
qifchen T8EadT, THA TATGT IRETT 6 3Te. TATIEA a0edl Ueh @TE {5 i
TAR RIVTATE! T Tt 3., SATa fo=meRott STfor gereor 3re.

AT SATICTAIS ==l e ITeM AT g wfvrd farehdis
M AST QT AT AVAE A=A FSavie Hecar=n 3R a°dd AT 9o
U9 LG AT Teqeh=a1 aTadTeaR AT S AR THA Hie. TSTeTen
ATTFATAS STTHE TAwATRS F&T I ATV FEATIV] AT 0 GHSA =00
AT Bpeh TawaTehe @eT dhaigd RO TR AT, STTASHATSAT TR0
R, TACRIETS! Tk Glo aTararel, feeRfaur sor faeor yonfoa saa
HEdAT e, 9 Qo1 GEhd @l a8 e T=AT FATd ST ol S6dA
FTERSI@ =T e FHEdET ST ATHIET® W i Saq ¢ Fm=
qEM 3Te. © TIEeaR =an #A1d Saiae e,

TSI AT HH aeh (SCF 2011) & graaase! v femerfavam=ar aex
SHOTUIE VT GoIGR hNTGTER SHehIN Tia st Irsana wTivra frerfamamanst
ITETIEdeh JHTUT= |V ks, |d AIAATAT HIhR FUATAT T TTETIETHRT
Fo e, o fomm aRenem wwem (SCERT ) 3t Teametes a4 fareraag
AT AT AETIEdRT=AT [Tl gaaR SEer S qieaqead e
A=A Head =] T shol, H T eerfremiaeRt, e furetmfeert s
T fyeredmEr Afaem SRt STerd. Hi §e v JeedT Aran geal SRt
AR, SAWT AT IeaqEqanr=a1 faama J foor @ safea fewe s
Mo fATeTur= FaTed ST A1 deTqeqdr=al faehamErs! |Tesadn T Fel.
T GEGT |l SMART 3Te. a1 FTel fRaR aReme afianeiaean sge qie
HTART SR, JH=AT TTEERUTE AT oo™ AFe! FTach TN el

Place : Hyderabad
Date : 03 December 2012 - ,
g @.5.9R=.8., egEe
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faemeat=ar e se=an aeda Samei 99 i 999 SEEar qiesl.
fergrom= (RTE - 2009)850Te igd ATl hl Tebd FAYT FRUMAT HAeh
fammeata smasas WTfEva 14 auT=aT FAT=AT A@ER W AT diiest. q9d
FIFAH W Feh 2005 =T SATIRMER IR Folell ITSHA T ATIT ATELTR
e, fasre wevrst i =1 fome © wreafie adl R A FEIIMTIE ST
Trmeatar wfvrarn sfor fammm=T AsEE SMaR QUATEl STEsasdl e,

SR ST B ATAT AT STETEGR ATV &HATIU SFiavar X 3@d 51
AT TRAT WA, TR ST JoAfsTel Szl |THTST=aT TReER
IFMYURIT I, UTethes 9 Arenthes f{reror=n fifuram=an fets = 8 9 10 avr=an
TSRS AT e ATd] TR =T foedR ST J@ie 9un S8 B
Tfor <o T SR foeneater mafus v Ssevafus staeda e

el i

TV OISR 19 aedd Feuloia WTafieh 9= WTeifife &1 Tadich
ATIOT ARTHIE! & TN hell AT, TTSTHH BT ToAAIceh T HaSl WA FHEvImER
SR feetelt e sfor gersga wrfrarean sfor <o eqgieR oot ame., fermmeatn
TEATNT SUaTETS] WO, w=1 A ANl ScaTe™ W HUaErs AT a6
FA., AT TSI SASATESHATAT AT Sreqfreh amier=a smeaRraed fefeea
el 3Te. TS SCERT W TR holcdl AATHSHHTS Tkl IoTp0l herl ICATH
AT 3TE.

TETShA Tl ST TN 3ot 3Te. 518 68T 9ead, sfemTiurd, fersmford,

I, Tifeaeh! ST fgerer STHIT a1 ereeft e s fawam=am

ﬁﬁﬁﬂﬂﬂ% Sreafurer U ITfT ST T |refau, difhd e,

T RER §e4 Jifed [afqg wo1d samk faem gar. T

Fega fawd et eAfed IRfErdT gear B, reaTE s T

STEq It STl SR IRl a1 Bid. deM el 3aeR

AR, AT § . ATV JA T AT TG SATATATAT STATh STeled

FT A IRIEIAAT ST AT {3reqeni=i Agd Sl 3Te.

T g Fet e IR gt fow o,
@ T TS AT RIRTGAT TEETAN hetl 31T, SAWS =il € sivamasher=at
ST &=l B, ST Wedsh Uerd &=l aaal.
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& I YTATHE AT G IR0 hae SR Bl ST JTER AT
FRTGT=AT HaTa% UIGHTET SNe UqedT SIId., Al S99 Eataes) 76
AN holedl AT, TRIRS v erseraengd i giama. Arfedt
AHHAUATETS] ATEES], AT 9 Sheldl q¢ A0 T@q:feg el afes
Y FHEU AT Yo FeUATd. B fEhReiedn Jear drehish qiRome

ATeA.

@ YUF THA TEUITETS! bl Biael! TTiest it AT THATAT THEgdell Il
FHESUITETS! JATAT AIERAT TRHIH TG hall HTE.

& R e oo fora SXfavam= sefvvTelt aeg=ar Jae oI, AT
foamR, ==t sfor forer Il seaieerd! e, 3 Jcish aegal ad]
T fooie 3Te. A fueeE Il 15 el efr=n Ferad Atfed

el

@& YU IISIRA 15 AT [T e, ST ATSATNGA e A
AT T[T Uehaehed IcaTgld MuTd frehadrd.

& G foe, sEc, arEan AR AR TR H=auer Jefie T qTeais
TR wea fesd.

&2t (1) : IRAT T AT ST Tead=AT e AdTd., qARed St e
T SRTGAT AT, TT=AT G Thepcll. TRAT TG UEH STEUIT=AT TR
G =41 ST Al HAT TERYER TRAT TATT ATevaT= SaelsT fear, akda
AT HEHET R GUTIT=AT TATd YGsl¥ STV Ie 6 AT geard av 13791
T AT qUT a9, v @ UEH M0 SEEE UEgdi aus hTen
ARTHRIAT TEGAH HTEU © HAT THSIIUIT=AT ST JIT &&= AT
e fafae SeTeRum=an TseRuaET ==l o,

=T (2) (4) (11) 3mfor (12) wedr foswiivra sme. o1 g=ard T SR UeH
FATT AR, Mecesh BT STEeAT TS = Hifed  FRUATETS! 3o
T qege e fo=aT fohvicl! SRICUaTHTSr Ueh STFeRIST WA TeaT, BTdieh ST
T T EISATd Il STERTRIGH o HISH G&d=aT Hdiehr=al &ad fafevamamst
feorer sme. fafae Seewm=a waseReme waeE fEEEr s= e
SATell. Siieh IM=aT ereeTd 3rfvr s/ afStes a9ear St (q + b)? = o°
+2ab+ b2, (a+b)(a-b) = —b*AT (x+ta)(xtb)=x’+(a+
b)x + ab Tafae feadiaes qumei= ==t F=vara st a1 T i afie

HETF TS0, TFOT U AAT TRETES! fool e,
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£T2T (5)TUTTCCR FT9T, FIA UMTCaR,, ZHRaRI, UTTeeaR o SATUT el fefshia /
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&el (15) 9 TSl Yoo oRmeAta STeiTRiGH STl Sear=ar HTel F9-TegR
T wifed aRvamn e foom ste. ArTeRT= femmm weaed A
1o A F1aet AR, STIAEEAT ST e AL ScaTe F v groamEms! fod
3T,

farmeate = AEdl difeeledT W9 ATV AT heledT SITehd =T ST
FUATAT I qHIG=T ==l hell Mg, G281 (3) WEX AT 0]
TR eI el 31Tg. TIATETS! T AT THATETS! TR el SGTEL0l
el 3MR.EeN(13) 3D ¥ 2DWed gowE a1 #ey fommzafy 3D =R fafae
ATHAT AT TET STaHT feel e,

ATfEdt STATAUATATS &FTd STl 3T Siei@r=aT qegdi= fa=meatfarr
AT HEATA! AT 3Alee@ e o,

&1 (7)HEN THAT ST 3MTeI@Td TFAT=AT ATERAT ATt T ¥ iieheul
HIVT AT ARARAT HATCHATd YGIId F0 AT61 STH ETHToR, Jgas |iaa

JRARAT a5k HIE! IGTeU HEA, Heaeh AT Tgehral IoTeavil suadra! foel

ATe. AT 3rEEe g Arefvam=n gt qeedi=l 9=l el 312,

Fel 4e (9), AL YAl ATHA=AT IBART &5 d¥cie dlehid, aqas,
FETRR AT 130T Ap@e, TEANS &=Fes ATVl ST B %5 AT I
HF5 TATGl 96 STV =41 hetl haled ARTAT TISTRIETR =1 hedl
TN qSTohT TEATehT™ SedTed GoigR {1 @t o, =Tatad ATerd.
TTRUTTIT=T S9N e AT SEIT HEd T8 @A Sosigd odd e,

UM T SR i, Tt fyem=a wuifom wEe fohar A Seed
ATITEA hdcp T AHTEA T |ieqd AT GeHTE T AT e

o o
dlsldedl Yllesld.
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S e (1887 - 1985)
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RIS TR T FET AU T I JHSS A AT, AT
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T AR 17 AN & o,
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— (1887-1985)

71 Taegara SeeTeiaan aee & @m=1 Ig@ auamE! IR wEet arel. et
HIHGR AT GHSAST FISfAqHT AT IRAAT sre=vnt femfor Sean wRor @ ot sRisR qof qor
qaAS! el fohat <= WRT gaeen arel. Sttt 3@ ven famneafar faeme wfesa S|,

TFETST Y9 AT AT T e8G9 61 ? SR ATel o) JFel Tederr=ar ARr=a1
TR G gel. fhar sreawa Tet 519 g segd ad. fad 9en. Rl enavamEet
& foamar forar grafavamarst qet a1 9ed qH=AT T@d:aT SseTd Ueel |, U9 SRIearen
SO S ATE. HIEN TG T IETEITET JUINS JFel g Ahal S gretd U9 garg
FROATETS Wed fHead. Jrel e e sthd=n R eTa o S RIS SHeT aHsvaTarst
IUIRM T2dql. T SR AVATETS) 3 FATH AIfedl 3Te &1 ? 39 FMel SedrEl dredt e
1?7 ITRETS TS TRIE F T’ AR,

2. FAISET TR &

el A8 U0l @A A TR IREH @A GHe QISauamEms! Ua arse S|iao
R Tl AT FUATE =% Fh el RIS AR SATed.30 GHel AIEfauame Tshs
I HATed. AT TIH F ATV AAE T ST gl Flel A qr=vileqR 3ead Ad.
TEUETAT Y9 AGIT TR,

S STQTS STTOT qUTEYI sk FHVATETST UTEW ¢ SREARIM ATGT SMfan s o wen sefasw

T arefacear wwemn e s defacen arRen aReET fFERg GYmEdn Fga e
sk ATET THET WS sk GHIIT U QIS0 sk 6 €T SHET WIS, sk qHEidE
R sk THOATET ATR 3% fA9 wed 20 sk ANfE wW FR0g W AR Wtk AT TR
s TR gEfauisk faegaar qrafa

3. JqINET FHSTE@ UM

FISAT TIAR FUATIET TSI TS AT FgHT |19 ST, AT G916 Hleboadh
U ATIVT FEANTSAT B ATEEH A0 ATed. SR JFdl dreedld &M 7 el o fadhgd
e, T EaT Ih! HH A hedT8 AT |G A6 AT SEau=T= Y & Tel.
FARAT ARG ST Fehl I AT 0T, |ISfaedT .

4. YARTBTHS FEIGT FHTO

=T T sfor fafeaaoor gaeRor sed IeeT qUi FRuATars! qdeladTs gaMeT
FEATE STEq A Feh WL WIS Teichgl i 3Te ? © STIUTE ITIUar= Srchl ahefl W
TId. gEeAtgEd 9o FER 3R 43 aHe SieEuaranel ar=n FHl 9T gid el
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Human beings are no exception to

the golden ratio. In fact, our body

architecture is one of the most

perfect examples of this ‘Divine

proportion’.

Consider the following:
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length of the head.
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8. Tooiea sTseTa MISSISSIPPI HEN TaRT=AT HEATH IVIIcaR ST SSIAT=aT 6
TR hIE.

9. Mg MM AW TH &g / AR e hedl. @Al 25% A% 1T UIF
wfgwaren faesrer. e wer fvaa afevara 2080 T fiee @@ @
AfEwaTa T fohdl 9% T AT 2

10. T ABC AEX AB=2.274.,#I.,BC=1.58.5l. AC = 2.3 €. 6I. B XYz Aed

XY =4.49.H.YZ=38.9. AT XZ=4.69.9l. T AB:XY,BC:YZ,AC: XY.
< IR AR AABC AT AXYZ =T TRER &9 IR ATed ol 2

ok LG b I o B e B 1 L S RO S RS S e L | B
UITCRT 3]

11, HATER T R TR Adl. AE @l YR Seadl. qigarEl A 5% o
AT ATAT AT ST AN 63 8% AT et 3T STz 10%.7 FAT ATA TR
HTERIAT HGd ST Sl @Il [Goled] qaedTd deaedl Tohdl vl 3Ted.

avg | 92 fewa /.. o fema
e | 30 T
S| 100 &
q9 | 280 T
da | 120 T
80 ¥
12, e Erﬁﬁ ST Fofal WEd 2075 HGEATH! Aig HIell. TR GaAT I Haear=l g
4% = HH! Al AR,
(a)ﬁ?@ﬂ%?ﬁﬁmf%aw

(b) 71 At fordt TEET=l |G ST IMR.?
13. TR ATRITCAT IAT AT 1720 il HrgE TURed1, AT T A 20% T aredt
AT SAUET Sact!, T I TRt I I ToFvaT= = el 3.2

53 Je #fda w0

HIE HIGT GG AT ARG AT T AE F Ak qTedl. A0 ATAT 6
TEUTAT 2 TATAT BTN fohTd (MLP.) FeUTATd. TRl HRETVATEER BfAelel! TohAd TEqak
B! ST SATAT FEAT AT F ok Tl 4 FgUrar.
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e TehT oI TEdeh {oehd HUaTETS] IefT JEdehT=l BT fhAd 80 T 8. IRy
THMERM 15%.92 foeft, faen qwaw faea vt fdt 38 2ma o,
HTIAT SAfed TSaaTd STdor Seaen IRt off |9eid aal. Si9 STmg aedak
e e,

FrAdeaR= @1 g2 U, € B1ud UgiaR fohdm w/a % deheR fodl S

STAT T IR0 AT 15% e quaTa ATel, BT fhAd 80 T 318, R 2

15

WXSOZ 12 &9 BId. ATl 9E 98 80 - 2 = 68 ®9Y 3ATed.

HAUTET HTEN IGREV 1TE 1.
JeIEM:1  UH AFfcher=l ST AT 3600 9T 3. STTUT 3312 &9F o
el TR |e ofoT ket ge fordt wmfea
FT 2
qeaus: ge = sifua fima - foshr fema
= 360089 — 331289 = 288 T
TEUH He o BIUA fohAdIaR dTeel SI1d. el g ATfed FRuaranst

ATV BIUS TRAGIAT IR FFSIAl. 3600 T BTUA fohAdaR G2
288 T ATE. 100 &9F B forwdieR fohat g2 fosd.

288
TRET e = > %100 = 8%
MRSt 2= T600 °

Sl el ge fooft sfe TR AT ge Hifed o Sehdl.

IETELW:2 T TEATH! B fRAd 1600 T 318,30 GHHGR 6% =1 92
foot R fosht forma wfea ==,

qeaue:
T A AN TER A AT A BT TEGd Arefarel.
1600 TFATR = 6% G2 6% HHT FEUS
:%XMOOJ% 100 B AT B 94 . BIAT.
fpra = Bifua fema - g2 0, Al S B
= 16008 — 96 & Brft BT = — x 1600 = T1504F7
= 1504 % Lo
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a?g EURCHELE Tqc ferht forma .
450 7%
560 9%
250 5%
15000 15%

JETEW: 3 TCHT GHETT 36 TRIGUATETS! Aal, SE=l B fhAd 1000 T
HTE. G AR NG 20% Ge AT R 5% He feefl. Tea ge
FET Sl QI AR GIF goeal GH JATed.

AEqUE:  FEge! S HAT = 1000 &.

20% HZ FUS 100 &I

e =l TFBARN = 20% FHT B 80 T
afea g2 = 10008 = 20% 5% T FEUS 100 T 1
::f§%x1000 ~ 200® o7 95 T
: . -, @ Tkt fopma
gfgeaT ge=an R =1 fAd = 1000 € - 20 0 95
— = 1000 X —x —
=800% “100 " 100

GEAT el THRARI = 5%

= 760 %
GO ged! hAd =800 T T 5%

5
= —x800 = kg
100 40
%:g“ dtﬂl "ld(ﬂ(\l |r8|-,4-|¢| =800% —40t=760%
fra=760%

u



.

T g TS feoidl G2 =1000€— 760 = 240 ®
1000 TIATAT g = 240 T

Uha a1 feoredn e = THRRar] = ?ﬁ/d x 100 =24%

wmmﬁ%?@agﬁﬁa&aﬁwﬁww
HT

SOl U g 38 faeRd SvAmETdl e, o s R 2500 w99 ST,
THRERH 5% = e Toefl. TeT hIg Feamis 3% =1 ge feal @ aeel foem g
Tordit ge TeaTett? 8% e=aT sRIeR 31Te &1 2 To=mR &t sifvr gr=an feamdiea ==
T AT A=A Afed fofe.

5.4 TadbarRar g
@Wwﬁﬁﬂm 477.80 T TR ST GHAGR 15%%1 G2 o Tl ST

DT (FhHHT hHT QST ATqdIeA?

TIATeAT SacG=aT FhH Tae el Sl 477.80 TIATAT 480 ®IT M ahel 3L, R
FRHATI0% FTET. O 48 TU 3T, AT A =T, T 24 T Id. FEUH G FHA
48+24=72 T UA AT FRA AR 410 T T,

| TFCT B

{1 (1)357.30 ®.3R20% =1 SETSTTET (i) 375.50 &4 15% =1 ST ol

TRer afur fosht forudi=a weeia (@& 1 smfor dven)
@Tﬂﬁﬂmmﬁﬁﬁwm

I 750 AT %‘Cil forerd ®IeA 900 AT farewe,

A 10 ATH G 25000 ®IITAT TeaT ST Sl 3ATIOT 30,000 &IATAT

1 au] faea
e TF aEEA 1600 TAATAT faehd Bqet 3for o= aSi 1400
FOITAT ferhedt.
%21%4 Teh &R 4.8 ATG o foehd Sdell T 4.1 AT@TT g9 q9HaR

TRE TUh &R 9 @l [Fahd gde! iy | 9 &9 @ <aTel

GREIETS! Al AT 10.7 AT@Tel &R el
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TfecdT IR STeLuTd % T ATi0T qrer wiel foma amfor fosht fomma mefer ammesesan
qEGAIA HIEd hel.
R YT IS TRIAT I Aol 9% T fohecit?2 o 1.7 @ &, 3T 2

o

A= ATel AW foadvar=an sHiieR STUE! &l @9 ohdl, JFel A1 GEidl 6
FUIATd.?

FTE! deb1 GHRMGRIAT (e To AT ANl T8 ATegeh qIHTEY], FHARI, o
TH T GIe= ATS TATG! © 69 aegea Tashl formcr=an stfaRaa smd. sem @=ier
HTIOT 7T @ FEUTaTd. MM © @Xal fhAdia fHeadrd. A6 T foham qrer =gl a1
HToledT WGl fohwdl 3R e,

e =1, ==t wa anfor fomr.

m@%a@w@éféma Torsht forva FETel 3191 YR hTel
aAfea e faear = OHﬁHQﬁF@?ﬁHWTﬁWFﬁUW%HWFﬁﬁa%
T sAferer Ul TrEd SR ATV ATAT eFhaRl HEd Geffaet aR TR T % FEUIST STehel
FTEE IETE 3ATe BRGl TRACHE ST dlel Feusl @ial fohAdia i B 3Te.

AT HIEN IGTERVN Tg Al
IQIELU:4 (T GHAT Golfel a&] TR o ATIReIe 1% ST 5000 TRTEAT
%ﬁ 100 TIF ATETh! O T ohel SATUT 500 TFF AT=AT
gﬁ{%ﬁﬂt = @ 7000 THETEAT o,
()T 51 =it T Wel fofa (i) T T TR qrer SeRer
Solution:  (i)YUFUT WGl frAa = foshl foma + ameqs @« + geedl @
= (5000 + 100 +500) = 5600 &
UM U TGl R 5600 TR
Gy Tosht fora 7000%9a a2 fosht forwa > @at fohma, wev[
T 7= forsht fera — @t Tvua = 7000 99 — 5600 ®. = 1400 T4
5600 T9Y @l fRAdeR A T 1400 &93
R BRel fFAd 100 T 318 R A% T fohal B2

1400
- 100 =250
RSl AR T = 5600 ™ 25%

JeIE:5  fomae U W™e 4,50,000 99 1 faehd odet. @ 10,000 &9 1
HROUATATS! ST(O7 GEECATER T shel . T AT 4,25,000 TIATAT fofefie,
T A% T Tehan qrer AT ekl ediel Aifed o,

qreaus: THw Gal A = okt g+ geedt @

= (4,50,000 + 10,000) = 4,60,000 &I
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fersht forma 4,25,500870 3R, A9 3mqur Tafketor o a7 T feosht forma
GGl foRAd=aT SHl ofTe. TeUA 49 dlel 3Te.
el = @er fraa - fashl foama

= 4,60,000 — 4,25,500 = 34,500 Eq'a

LAV e

4, 60, 000 @Gl THRACET qNeT 34,500 SR AT @al fohAa 100 318 R
arer fordt B 2
34,500
=—""——x100 =7.59
ket qreT 7.60.000 " 7.5%

IQIEL:6 AT 50 TAT hepl 1250 THATEAT ehd Bdielt &M 250 TIF ATEdH
ATE TG I TE T hop| G I et ATELAT qrel

T T Tl qler fhar TR w1 Her
qeaud:  TFU GGl AT = i TRl fRRd + arede Wie
= 1250 +250 = 1500

forehcledT T hepi=l GEAT = Taehd Hqeied shabi=l TEAT - Teoledl
Sheb! =1 T

=50-5=45
okt fohma = 35 x45=1575

Ty fosht foha > ekl fhaa Tevm 9% 3.

% T = fasht forma - aEt fovma = 1575 &, - 1500 €. = 75 &,

1500 ®IAT=AT @el fohAdiaR 91 75 &9 3T,

n oo [ oo c
100 RUIAT=YT WGT ThHAATEGL 96T Tehdl Bl ?

> x100 = 5%
1500
JeIEW:7  Hellsh TAh Ueh ¢ 3000 TIATAT foehal. Tl Tehl oIeATaR 20%

TR AT GEATER 20%.T1eT BId. AT=AT o0 A@TGAER 7% T o
e AR FR1.

Rl TF T=
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qi<ar:

qleed THRATES GET TFRATETS

ot e = 3000 ®. ot foma = 3000 ®.

QeREl AE T = 20% QIeRET dIeT = 20%

AhST d% T TSl Wiel TrAdia] Sher || erer qel el ERel frAdia] Sehel
e e 9 T

Segl @Xel fohAa 100 &9 deet fosmt ||Sieem @Rel fovua 100 &9 Jeet fashi
frma 120 o=, fra 80 oTR.

Siegr Tt foraa 3000 &0 @@ R ||Sieer fashl frma 3000 &9 3@@
el forraa & B 2 giel fora s B 2

@l fmd = 100 x 3102(:)0 2500 Gl faa = 100 ><3280 = 3750

T AR TEHT BRGl fRhAT = 25008, + 3750 T. = 6250 .

T AR U faghl fRAT = 3000 ®. + 3000%. = 6000 .
N o~

U @ial fhAq > foshl fhma wevM dter 2.

qrer =@ar foRma — feasht fhAa = 6250 %. — 6000%. = 250 %.

6250 %, AT BRGI TohAIER TleT 250 &, STE.

1008341 WGl fRwdiaR qrer fodt gRa 2

100
0
SISl el =250 X 250 = 4%

T AETGAER TIeT 4% 3Te.
R =, ==t w0 s fomr.
T GFFERI 31 211 W9, 900 T 1 I, TN T 10% TR

AT GERT 10% Alea foehetl. THOT AT 7 T foha der grar . U'RSTQFIFR
T EFRART FIET 2

5.6 bt =2 / value added Tax (VAT)

STTEA T foshiaR @R agd dd AT VAT FeUATd. GaMGR BT &R ATeehig
THA FRAT ATV TEATAT FRAT, AT FhRAT IR AT Sl FGA P 2 T TFeTell
ATfed AT A 2 TGS Foledl IR T SRA GHTR Hd .
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TE ATEUITAT FEIAR {95l T AN Bral. Fad ek VAT R o] Bidl. HaaR ATel.
IR a%] A1l aWafTes VAT 38dTd. 9 ATER 99 g TRer=a] awga]
VATHE T, 1% WERT 36ciel TS 5% SATIRieh STastik STVl AgcaT=aT TEga ATl
ST FEIAR 14.5% F ANl
VAT &1 Tasht fRAcitar amTar, SATfor arat siaeat qradia Hestad STTd. VAT © Tashl
ToRAc=aT SISl e AR, @Al VAT fHeslacte! wmaer = ffeerr @,

T U ST QMG ATl Ssamel sy fashd soreamErst e
g;wum it feeft, S steft feoa et 372.18 T4 =it BIT. AT 5% VAT

() fash var fasreer grar.

Tax Invoice No. : 2012?301549007214 faeties : 15-09-2012 20:48:31
1 : SToTgft ag:35 Gender : Doc:dr Do.Reg. No.:
Cus.ID:20121301549000617 Add: Sainathpura)
S. =g Mfgr Sch  Batch Exp. MRP. g3 T IFHA
1 BETATROP TAB SUN H BSK4198 12-14 5.9 59 60 318.60
2. ECOSPRIN 150 MG TAB USV H 04004652 05-14 0.4242857 038 42 16.04
3.  LASIX 40 MG TAB AVENTIS H 0212016 03-16 0.44733334 0.40 15 6.04
4. ELDERVITPLUSCAD  ELDER  C  SE0022008 08-13 23333333 210 15 31.5
afga @« 41.35 VAT ON 354.45 @, 5% =17.72 g 372,18
g o7 ¢ 372.00

qradl 96 g TS 3T <hl, radi=l A = 354.45 Vat @ 5% = 17.72
IQIEAW:8 T Fel=al SIS ThAd 450899 3ATE. TR fashl I 6% 3R,

TR A= qradl WeRH fordl © wrfed o=,

AEAUEH: 10083 fo6hl R wREm=T 6 %.
T 450%. 3% Tkl = Tordl wRaT <RI 2

Terent fhY o = %mso - 7R,

a3 = aEqel fhAd + fashl a = 450%. + 278, =477 %,

5.7 #mer anfor Jar &2 (Goods and Service Tax) GST

T T AEFeld I Al RAdT A1aeaT™ AURT 691 IR 3Te 4T Al 2017
St W R e ot ST a1 el ARl aR (Excise Tax) 3T fafer o=
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ST ARATT BT A1 g avdTd 394 GST 98 VAT A SHoedl aEied
ATAT=AT BTl =T Yedieh TTALIaR ATGeATd 3Tel T Tiad HaTahe g SISuaTd 37Tet.
TN T &ial 3%, 5%, 12% SATIO7 28% 3T TG & T Sgeieh AT ATVT T
Y ATGAT. Bl A6l (slab) €9 ARATT GHE SavITd 37Tl & ATG1 50% Faid TXHR

T 50% ST GLHRAT 0ITd Ad.

ISR 9 :- TR IHT GHFMIA ST AT=AT TS qav foehd Bl R cTa
18% GST &g 2200 & =i qrawt fHed SATfor ot Fehat axal ax GST et fohd
CGST amfor SGST =1 Al fordt TEid

TEH @ | IROmH = T T

qrslor 100 20 2000

e 9iev | 2 100 2000
2200

Areaue: - GST @ehe fodd = 2200 %
GSTH=T R = 18%

18
=2200 x 100 2396

GST =1 &t fohra = 2200 - 396 = ¥1804
CGST =t GST @ fFad = 2200 - 396 = 71804
SGST =t GST @ f&ma = 50%

CGST =t GST T fowa = 50%

50

CGST =T GSTHEY = 396 x 100

=3198

T SGST St GSTHE = 396 x % 3198
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JETRRYT 10:- TH =1 SAer=! fohad T1000 3¢ GST TR 5% ATGUaTd SATel T
T AT & TEla
HIZAU ;- 100 TR GST 5 & &1 @R R 31000 X foreit K &amar .

GST=X =X m x 1000 =% 50

g feaa = aegEl feaa + GST
=% 1000 + 50
=3 1050

'1 S

1. 201zaﬂﬁaﬁwmmﬁwﬁwﬁwm§a@zwwmﬁﬂww4
FIET BIed., AUITAT TET A9IG &l §&AT 125% Tledl 361 36T 3Te.

2. ek =R Aok 3T B HIE Ul N1 5% drefaal. S e 91 2500, Ui
T I8 R T IuHaR Tordl 912 BIET 2

3. HYER! Ul HUA=aT SR =1 fhAd 7,508, WaRE df fhad 6% 7 aree.
FHATOT 1.5% = FEART FeaAl 3T 2%+ [RART FHHT ATl STegl SATIR e Tled
T YERAR AT AT T Eeet o .

4. EE AEET AR FA TFEl AT Uiel dele foraT H1S e STehdT. T
QU AL AT 4H.H, T FwEE Bid. fod FRE| AFeT 150% AT qél TaR o

T VAT FF=T SATRR 1 TSR HITed T 2

5. U JEIeRTE] BTH fohid 150%. 31T ST IRl ART 15% 3ATe. T Hep fhAd
feReit RTET ARG e,

6. T WC TEJH! SIS [hAT 176 .38 ATV I 165%. A1 faehed! TR Jhel g2
Hifed R,

7. T GHMGRI 200 T Tedeh! 10%. o Toehd Bidel. TR 5 ed 98 FHATHb
AT ST A, ATIOT AT Feal el 12%, faehel, TR %7 foran dier e,

8. el AT 3Teleh HIed! AT 8e a2 B3 J00 .
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A.p. | I foaa = fadt foora | ow der  |dpsT T\ |AsT dler

(38.) (31.)

1 750%. 503. 803%. 7

2 4500. 500>. 1,000%.

3 46,000. 40003. 60,0005.

4 300%. 50>. 12%

5 330>. 20%. % 10%

9. T eHd 2,142%. AT 5% AH T faahal. 10% 6T Heslavamamst ar e fhdiq
orepe ifest.

10.  IT9I ZSITEAAT Ush HeSATs 12% % AT {dehell 30T STieds STAal 5% %
T Taarell SR STA91,330 &, ¥Rl O U9 7 gedies {oha ol {dehell BT 2

11. WA AT Higa™ TH A B 3,20,000 THATAT v wdel, Frel At
AV AT 2, 80,000 THATAT faehcl, T #Ifed .
(a) ST FATAAT AT (b) AREST AT

12. TH FR AT ATAHRM Th AT FR 1,50,000 & 1 foehvd Baedl. @™
20,000%. GEEIIAT @9 hel ATV FaR 2,00,000 &. Taehell TR HIfed &I hl

ITAT T feram dier Bl SR 3@ Bld 38 o eFhail fordt 2

13. AT 9 U qiA 2led " T A arefeas anmn sxoamarst
Hqel, AT 1,450 THATET ATEdT 5% VATHEIA Bl Aciar el ge HRTelt
AT Tleel AR 8% e G Tadi= U6 Hdel. 3T, A gled

HTeTeRTeT Hep foha ferett foeft wmfea =
14, R GST qe fohdia fHesfaar o arefier= He forma el
A | =] GST% | madl FFARE.) | 9o formd(e.)
1 fext 1% 10,100 &.
2 YR T 5% 2,940 &,
3 SICIE R IC K 14.5% | 229 ®.

GTele ST forshl fora h1et SieeT fasht o 8.5% T aEqar THeslae.
() SOTAT TA (i) 35 TH Wl QI ATeAT=AT I

15. A M HOA SARME! RAT 4500 . B TSR o o e BT Toehd =ad

AT fRAER 12 % GST foot @ feer 7 fovdt W@ GSTFevM foot, & Saw

u
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=1 TRal fhAq Tordl SrEla.
16. GOR ISR ALY Uehl TEqAl {hAT TF ATV FAT HEX 31 4% ToIfsh & (Sales
tax) AEUATT ATAT ATAT 01 3R T AT o FUNT “n’ TIAT “n’ T o
quifeh 3TE TR ‘n’ ASId de fhAd fohdl g 9o,
5.8 Twpae TS
TS FEUTST o OF STegl Sk TohdT STRER Gl Siegl AT=ATSIacs A9 Of ST ol
FATehIehg AVTRT ST SegT o e HdTd. TS FeUISl Hep TARHER STTTeTeh ok ST
U FEUIST ANTAT SIheT THTO B,
TR ATIYT SATS Tl ASIAT 2 SR AT GUIR {B FRHA G0 ol 11 HIBTHR T
TITT TG hofe! TRA 1A, TFEl ST WK ATSIUTAT SATSIE 1 FEUIATd 2 2l ATl
TTEROT TS 378 TEUIAT. & FEUTS! Hep TFRHAR Shel ATE 3118, ATAT SIS &
SEUSSURIE
IQIEU:9 2500 & TEIT 12% A Tk auial 3 a9 9 Ia+ dqel. a1
TFRHAX TTERVT TS HIET ATV 3 AT AT STHT FUATHT IFRHA
ATfed &R,

AEqH:  12% ATSTET & FUIS 100%. TeH! FNFETS! 12, FEUA
2500%.9X Ueh IUTETET ATeeiel AT Tehdl 2

TR TSR AT = %xzsoo =Z300%.

o 12
e IS ST = 3><W><2500 =900 .

1= T><R><P_ PTR
100 100
=721, P =¥Hgel ThH = 2500 .

T= s aUMEED = 3,R =TS X = 12

T ANT=AT e ST SR IFRH = HE + TS

= 2500%. + 900%. = 3400 &.

PxTxR [ TxR]
=P|1+
100 100

ASAET AMEATER Wha faaxor 2019-20

THRH = Hgol + TS = P +



g t = 19, WAzP(1+£]

100
) A W
e ol e
PxTxR
aF  WE®)|  [FB(D) =21 I ST (1) = XIOOX
%, ELIEE) p.a.(R)in % %,
1 3000 3 6
2 2 5 50
3 1875 12 675
4 1080 25 90

T A 100 T.10% SATSITAT G ek FuTETs! 4] g 39+ Hadl., G aui=aR ar
A e AT sl TXOITETST AT, T 120 T Teot, 3for siieg weorren <t st

T §IIT AET ANl AT SrEATHEd 3iTolel 3R HIUITHIS] ATl Teh! HETGTER

QGretiel JHTO FiSfa.
THIET TEEd A =l qeed
ufeci o | HEd FRH 100%. |dfect a9 | Heal FRA 100%.
TS 10% 10%. AT 10% 10%.
TEH] T 110%. TEHT FHA 110%.
T TN | Hed 1008, | GER a9 | Hed 110%.
TS 10% 10%. AT 10% 11%.
QI AN =5 + SEAT ANt 121%.
Tl FRIFATE! | =i Terd ST T k|
TR R AT +
2 I
TFRHAT TS
= 100+10+10
= 120%.

SIel JEGAIdIA T I Uk T ATR. BT T T Glvel Teadid ol 3118 2 § qraral
TR HTEZ HATA hl QAT AW ATS HIEd dobd TH o HEd TFRA 1008, =Tl
T AT 110 & HqAl, AT HY TR FlGolel AT TRep AT 3T, M7 51 o

u
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FTEeAel TS FHATE TS AT, A FHleiel TS Hgol ALY STHT AT TFHHAR
FIEd AT, TS AshedTs 38 TEUATd. FEUA <Iohale SATSl & ATSIER ATl 3Te.
VAT FRRAT ATATAT TFel A GUIR T hegT 2

5.9 upae ISR JFA B0l

I IETEVIER =41 el 3T FIReTur et i, S <ohaTe TS Al . SR Ueh
feram G o ST TR T | ST T ST SAsheATST TG STohdl, IR SO GIF
FETIET ST 3l TR AT S TEGAIH HIG LTl T 2 FeAT Ueh ICTexl eid =T
arTfur wTfed sRuamET Yoot 9.

SegTt = 198 TFRH (A) = P(“%)w IEIC)

FHST, P,= 10,000 & R = 129 Fcdeh ast

ST Tead T TEEd I AT U]
ufedt | g P, | 10,000 &. e P,
TR A 10000(1+£j gl | TFFT A, | A =P (1 R)
I 100 & AT 00
=
=10000| 75
- 11,200 ®.
Gl a¥| WEA P, | 11,200%. qat 9 | HEd P2=P1(1+%]
12 R
TRRH A, | 11200| 1+—— FHRA A, | Ay=P,| 1+—
100 100
_11200(2) = (1+R) (1+R\J
a 100 P 0o 100
2
— 12,5447, =p1(1+£)
100

AT TR el I el T “n’ A= WWAII:PI(H%T

AR A0 378 27 QF:h_cﬁ,A=P(1+%)

ASAET AMEATER Wha faaxor 2019-20



!

TR ATCAT ATHEH SATIVTH F A “n TNT=AT el STAT IFHH HTEdT A, ATIOTH =ha1E
TS &8 fead 281 T g9 Y e, a1 FRIIT T2 g 2Tl TR Aohdlg
TS I

n
S CI= P(l+ij -P
100

TR Wep TS AT =shale TS el X hid ATE 2 Tep AT Ucdeh AT
Y 991 ARG 38 IR FHATE AT 5 J8R ATed ST,

JGTRRUT: 10 TFIT IFFHA ATV FohaTe ATl Tohdll BIRd S 5000 . 8% SATSIT=AT &I
T aNTETST et ?
AIGA®: P= 5000 & R=28% 3TN n=27%

n
A =P [1+£]
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UeTaelid d<h hidl ?

oI ¥4 IETEXUITd, ATIAVE GIF Tohal TATHET SITed SM=aT UM RT ohell

Tifest. SR et S uemEdiar foean swar. =T R Arfed R, SR
e, =T A4 T AMER FET ATl ATe. T ATIUE Hiied dTfest. amd

o o

THIISEGAH T, & AT STV GTH UehUG =41 UITehRIhS ATiee dTies.
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11.4 THIGHET THIGHT JUTEKR

1141 9 THIGHET TUTEHR
HTIOTE Hifed e o,

4dxx =x+x+x+tx=4x

AT 4 x (3x)=3x +3x+3x + 3x = 12¢

AT, WTee UmeRRr fRe .
1 xx3y =xx3xy=3xxxy=3xy
() Sxx3y =5xxx3xpy=5x3xxxy=15xy
(i) Sx < (=3y) =5 xxx(=3) ¥y
=5x(3)xxxy=—15xy
(v) 5x x 4x° = (5% 4) % (x x x%)
= 20 xx” = 20x°
(V) Sxx(dpz) = (5% -4) x (v x 02)
= —20><(x><x><yz)=—20x2yz

[aY

fSTh IGM=AT UMR AITGd RUATEIS] qREAT T €] qar=al BT

(e, =marer faam arRae afest.
greite Taferor s smfor femar smm w=e.

6 7 y q

b aly

1. Tx x 5y = (7 x5) x (x x y)=35xy

2. 3rx (2= (3% (D)) x (¥ x )= —6xy

3. () x (=6y) = (=4) x (=6) x (x x y) = 24xy
4. 3xx 5= (3><5)><(x><xz)=15x3

5. (<202 x (—4xD) = (=2) x (—4) x x* x x?=8x"

u



.

Il (i) S = qUIeRrET VTR B9 qUTieh 3Te.
(ii) G RUT qUTcRTAT T[UITRR &1 TUTTeh 3ATe.
(iii) BT STTFOT K0T qUTTeRT=T UK 3K qUTTeh 3ATE.

gfee! ThuGt SRR TF THRIGHET TUTHR
2x -3y 2x x (=3y)= —6xy
—4y2 =2y | QL e
3abc Sbed | Ll
mn -4m |
—3mgq 3ng N | @ ...

2. el I M USHUCHT VIR Rl JEeTell SeH! Uehd Thdel a3 B JITEvil .

11.4.2 < fFar @™er TwagET UTEHR

Tl ICTe0l Jel :-
IQIEXW 3:  5x, Gy ATV 7 =T UK HITed .

GIECKER qead | qead 11

S5x X6y x Tz =(5x x 6y) x 7z | Sx X 6y X 7z =5Xxx6xyxTxz (M g
FATHT A UMD AT
= 30xy x 7z =5X6XTXxxxyxz
=4 210xyZ :210xyZ

IR 4:  3x%y x 4n” x 7x3y31:|'|%«_‘f .

WEAYH:  =3x 4 x 7 x (&) x(m?) x ()

284><x2xy><x><y2xx3><y3
=84 x (¢ x x x x) x (y x )7 x y)
=84 x x° x y6 = 84x6y6.
QIR 5: 3x, —4xy, 2x2, 3y2, 5x? A1 UIMERR HIfed .
WETUF : 3x x(—4ny) x 2% x3? x 597
=[3x(—4)><2x3x5]x(x><xxx2><x3)x(yXy2><y2)
= —360x")°.

T fohaT IS SR T 9o IUTER hedTd U TG Id. © diiee dTies.
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aa™ - 11.1

1. WA e OTER 3T
@) 6,7k (i) =3L,-2m (i) =537  (iv) 6n,3m (V) =5p*,—2p
GTeAlel IR TJordT qo7 .

X Sx —2y2 3x° 6xy 3y2 —?)xy2 4xy2 x2y2
3x 15x°

D

—2x% | -10x° | 4x? y2

3x? y
2

2xy

5x%y7

3. ATEl, &Gl AT St 9% @Al STEAgdl SaTHl B % el

.. CIED 3| = T ) = Ixbx h
1. 3x 4x° 5 v =3x x4x?x5 = 60x°
2 3a? 4 5c Vo e
3 3m 4n 2m? V= i
4, 6kl 3/ 2k° V= e,
b 3pr 2qr 4pq y =
4. Qe THRIGHT IUMER Aled .
Q) xv, Xy, xy,x (i) a, b, ab, a’b, ab’ (ii) kL, Im, km, kim
(1v) pq pqr,r (v) —3a, 4ab, —6¢, d
5. SR A=xy,B=yz M C=zx, TRABC=.......... T
6. TR P=4, T=5xAMMR=5, xR PIR_ FTaT

100

7. TR EAHR UHIE! HIA ATAT AUMER JIed .

u
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11.5 fust sufr Rodar wadh e w0

11.5.1fwden TR o
TEIET Sy AT Gy-+3 1 01
T IUTRRIT ATReAA! TEEA IATE.

IR TIAT gegd

1. VTR Feve T Tedat T feqaat =i 5x X (6)+3)
TR feet

2. ﬁa@wﬁmm.%ﬁwmwﬁ@qﬁm (5x x 6y) + (5x x 3)
TUTRR e ok fequa=a1 ga=a
TG ThTGIAT UMTERR ST ATV IUTHRR
foregan

3 e afere . 30xy + 15x

TEUA 5x ST 6y+3 =T UMRR
Sx(6y +3) = 5x x (6y + 3)
=(Bxx6y) +(5x x3)
=30xy + 15x
I 6:  (—4xy)(2x — y) =T UMK HIET.
WEaqeh:  (~4)(2x ) = (-4w) x 2x-Y)
= (—4xy)x 2x + (= 4xy) % (=)
= —8x2y + 4xy2
IQIeLU7:  (3m—2n°) (~7mn) T JUHR HIET
W: (3m— 2n2) (-7mn) = (3m — 2n2) X (—7m2n) e TJTH'FT
= (—7mn) x (3m — 2n")
((=7mn) x 3m) — ((=7mn) x 2n°)

= 20m’ n +14mn’

11, TR AR FRLL: (i) 3x(dax +8by) (i) 4a’b(a—3b) (iii) (p + 3¢°) pg

(iv) (m3 + 113)5mn2

2. UEdGl T fequemETe USRI U UG FEl. ?
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11.5.2 Fugin THUER UmER Fo

fequat smfor

THIGT 2x ST BIOgt 3x + 4y — 6) =0 EREARA
T 1) =2x % (3 4y — LT TXTd
IT=AT VTR x X (3x + 4y —6) »
= (2% 3x) (2 x 4y) + (20 x (~6)) (T OIEMATTER) et =it

= 6x” + 8xy — 12x

I - 11.2
1.
GERI TG TR
1 Sq ptq-2r 5q(p+q-2r)=5pq+5q2-10qr
2 kl+Im~+mn 3k
3 ab’ a+b’ed’
4 x-2y+3z xXyz
5 a’be+b’cd-abd’ | @b’

2. G a1 : 4p(3y+4)

3. x(2X°—Tx+3) =T |lAT FRT ST (i) x = 1 3 (i) x = 0 AT A™=AT ThuT e,
4. a(a-b), b(b—c), c(c—a) TOMHRTE THezaT

5. x(xty-r), y(x—y+r), z(x—y—z) TUMhIKIH fiozan

6. 3x(x+2y) FAT ORI 2x(5x—y) =T TOMHR qT I,
7. 6k(2k+31=2m) FEA 3k(Sk—1+3m) AT .
8

AT T o (a—b+c)+b (a+b—c)—c* (a—b—c)

11.6 fugien fgug frar Progs mer .

11.6.1 fRueren fRucA oo
g feeudt sx+6y 3T 3x — 2y =T,
AT, T feugrET sx+6y SATOT 3x —2) TUMRR

u



qegd Tl 3ATe.
Rl il Teg
1. |eW feueEn umeR forer (5x+6y)(3x-2y)
2. |TaaRomen fram AR 5x(3x—2y)+6y(3x-2y)
afeedn fequaldiel afeedl Tam |- (Sxx3x)-(5xx2y) + (6yx3x)~(6y < 2y)
qET feqai TN wfeen et

GEAT TRl EAT feeueie um
HATIOT SATeTeAT UTeRR fvezan

3. i &1 (5xx3x)=(5x%2y) + (6y *x3x)—(6y*x2y)
=15x% — 10xy +18xy — 12y°
4. |EomaE ue fesen 15 X2+8xy-12y°

TEUA  5x +6y SATIOT 3x — 2y =T JOMHR
=(5x + 6y)(3x —2y)
= 5x(3x — 2y) + 6y(3x —2y) ((FRum=T fAEER)
= (5x x 3x) — (5x % 2y) + (6y*x3x)—(6y*x2y)
=15x— 10xy + 18xy — 12)?
=15 x>+8xy — 127

R A
1. TSR &=
(1) (@ —b) 2a +4b) (i1) (3x+2y) 3y —4x)
(ifl) (2m —1)(21 —m) (iv) (k+ 3m)(3m —k)
2. oW e MR TE fRdt 9 s 2

11.6.2 feween Prady
%2}6—#3)/3”&%%4—4)/—52.911

AT, 2x + 3y & 3x + 4y — 5z« IO,
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TUTRRTE! qE5d
R

Rl Heed
1. UTRRT=AT FHer =T ST e (2x+3y) (3x+4y—5z)
fegugimn smfor Brogrn e foer
2. foraom=n fa| A 2x(3x+4y—52)+3y(3x+4y=52)
fegugr=an ufewa verd Frogr om s
Tequer=a gE= werE i o s
oI ORI
ezt
3. | afa = (2x X 3%) +(2x X 4y) —(2x X 5z) +
(3y*3x)+(3y x4y)—(3y x5z)
6x° +8xy—10xz+9xy+1 2y2 —15yz
4, I I fear - ss . 6x°+17xy—10xz+12y°—15yz

TEUA (2:x+3y) SATIOT (3x+4y — 5z) =T IUMTERR .

= (2xx3x)+(2xx4y)—(2x*x5z)+ (By*3x)+(3y x 4y) — (3yx5z)

(2x+3y)(3x+4y—5z2)

2x(3x+4y-52)+3y(3x+4y-5z)  (FaraRumr=an IoremigaR)  feeugrean sfor

o e
PAHGAT {[VlTenkld

STTE SITEd TS0

2
=6x2 +8xy = 10xz + 9xp+12)y°— 15yz fordt oe Jara.

= 6x°+17 xy — 10xz +12y2 - 15yz

feqaai= UImeR .
(i) 2a—9 M7 3q+4

(i) kl+Im 30T 1
TUITHR HI:

(1) (x+y)(2x=5y+3xy)
(i) ( mn—ki+km)(ki~Im)
W &9 .:

(1) (x=2y)(y=3x)+(x+y)(x=3y)~(y—3x)(4x-5)

e - 11.3

(if) x—2y STTIOT 2x—y
(iv) m’—n® ST m+n

(iii) (a=2b+3c)(ab’—a’b)
(iv) (o' +4°)(p—-Sq-+67)




.

(i1) (m+n)(m2—mn+n2)
(ii1) (a—2b+5c)(a—b)— (a—b—c)(2a+3c)+(6a+b)(2c—-3a—-5b)
(V) (pg-qr+pr)(pg+qr)—(pr+pq)(p+q-)

11.7 9T =St &1 2

THET  a(a—2)=a’—2a FAT
a =T RITATE! ToRedl SIS ATIV THIRUATAT Givel SIS[4! fohAd 3RaT.
a=5 I3t TET AN = 5(5-2)=5x3 =15
I5El A9 = 52-2(5) =25 - 10 =15
THIGRUT a9 = 9l a9 g=5 |1t
ENIRIGIE] a = —2 AT
T AT = (-2)(-2-2) = (-2)%(-4) = 8
IoE! AN = (-2)°-2(-2) = 4+4 =8
AL YR FHIGRUTT ST 19 = 9ot a8 g=—2 |31 &l A,
a =T HATE! TRATETS] THIRROT e 31T, T 3TI0 FeU] YIhdl. TeUH SH HRUTE
AT TEUIATd.
THIET  a(a+1) = 6T

T THIRRUT T ¢ = 2 T 3 |1é1 T Mg, R o 30K [hACETe 6 ATel Feu[
T a(a + 1) = 6 GHIERI QAT €I ATel.

THIHT FHAT B SR hivIdlel fhaa am=m Srerieii=an (s) fowmn Saeuma
TS THIE 2,

THIERRUT FelT=a] TRt fafsre forwd! @18 9 offg. R GAMdl ©f =ar=r a4
fRAdETST T TR, FeUM ATAT GaHtHIh e THIE FEUrdid.
TEQETST 90 € e <= aToRal (FHWaT sRisk 3@ ar=al.)

11.8 HTel AgcaT=al GHACT:

I EHT HIET FHMAT TR Hdl, St SeReU v g Iuanil 92d &
AT [UIRRTT aT9ReA! ST, W%ﬁqwgww RlEEINIG]
AETAT=AT T ST fequa =T UITRR 3ATE., ATAT SATI0 AT hel dTiesl.
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THST (a + b) 2= + 2ab + b* )

(a+b)? =(a+b)(a+b)

=a(a+b)+b(a+b)
=a*+ab+ba+b* =a’>+ab+ab+ b (PR, ab = ba)
=a’+2ab+ b

UM (a + b) 2 = a* + 2ab + b* )

ST a=2, b=3, BT ATIVTE (ITET &) = (a + b) 2= (243) 2 = 52 =125
@5l FN) = a” + 2ab + b* =22+ 2(2)(3) + 3> =4+ 12+ 9 =25

AT I5ET ST9] e TET. TGl el SJTFPJT o7 e||u1tu ELK
El% TRl Hﬂ‘gﬂﬁ'oﬁ FROTUTeh ST ATt ST TedTeavil el

? R
Tl GHTAAT AT hial ATel Jediesl al.
G (a-bP’=d*>-2ab+ b
G) (a+b)(a=b)=a*—b
(iit) (a+b+0)2=a2+b2+02+2ab+2bc+2ca

IS TR THWAT BT, (x +a)(x + b) =x° + (a + b)x +ab,
(x +a)(x+b) =x(x +b)+a(x+b)
=%’ + bx + ax +ab

=x>+ (a + b)x +ab

R w1, ==t s anfr foer.

X =2,q= 13TV p = 3AT GAIAT TGV TET.

. JFEr & fogd A9 2 TEl 9 = Sl S AT A 2

- WG GAMCAT TSARATETS] x,q AT p =T RTRT@AT fRATT B e,
- a ST b =ATEE fRACETS! dEHl Sl a9 = ISEl 919 B o 2

u



.

? a0

HHST (x + p) (x + q) =x> + (p + g)x + pg
@)  p=AT UGS ¢ Ais™ TreTel w1 G 3q 2
() ‘g =AT VS p HiEeATE TrTAT HA foga Iq 7
(i) TESAT IR HIOAT AT fogT A2

11.9 gqd= SYFISA:

IS 8:  (3x + 4y)2 HITed &

AIGAUE:  (3x +4y) T G feqUGIET TR 3TTe. ATHEN (3x + 4y) ST (3x + 4y)
ARGl 9¢ e, I R Eueiar BgaaE UM A1 U R

TEGAET TR & & Aehal. AT ORI FHTAT= o1 T AT
a = 3x ATV b = 4y =T IOMERTT 3x ST 4y TG STHH ¢ SATIOT b =T
ToerTont arfesa THMAT (at+h) % = o*+2ab+b* T HIEATE TIUME AN

) ‘a-a Seetq = 3x st b=4y
UM (3x + 49)° = (3x)” + 2(3x)(4y) + (4p)° | @ (a+ by =a’+2ab+ b’

=9 + 24xy + 16y2
IO 9: 2042 HTied &

. 2 _ 2
mavla;. 204 5200+4) i St a =200 s b =4
=(200)" +2(200)(4) + 4 war (a + b) = a” + 2ab + b
= 40000 + 1600 + 16
=41616

T &

afed FTG) (Sm + 7n)° (i) (6K + Tmn)’ (i) (5a° + 6b°)>  (iv)302°
) 807° (vi)704°
(vii) =T TSdTe T (a — b) % = a® — 2ab + b%, N @ = 3m 3T b = 5n

IQTEU10:  (3m — 5n)° AT
WEAF:  (3m—5n)° = 3m)° - 2(3m)(5n) + (5n)°
5 5 ﬁaa:3m31||a|b:5n
= 9m” — 30mn + 25n AT (a - b)> = a®—2ab + b*
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- e whRmwfga

IQIERUI11:  196° HIaT
m‘ 196° =(20()_4)2 Y ¢ =200 ATV p=4
. Wi(a—b)2=a2—2ab+bz
=200% - 2(200)(4) +4°
= 40000 — 1600 + 16
= 38416

3 &
'FlT%T‘T (1) (9m — 2n)2 (ii) (6pq — 7rs)2 (iii) (5x - 6y2)2
(iv) 292°  (v) 897° (vi)794°

IR 12:  ATfed IR (4x + 59)(4x — 59) T a—ax AT 53,
WEEAH: (e + S —5y) =@’ — ()7  |FEEAL @ b) (a—b)= a1
=16x° — 25)°

IQIETU:13:  HIfEd IR 407 x 393 e
WIEAUH: 407 x 393 = (400 + 7)(400 - 7) FHITAT: (0 + b (- b) = -
=400% - 7°
= 160000 — 49
= 159951

SGTEXU:14:  HIfed &1 987° — 13
qeaue: 9872 — 137 =(987+ 13)(987—13) [ 4 987 3T 5 - 13
= 1000 x 974 = 974000 [Tl @~ b = (a+b)(a-b)

T &

Tfed & (i) (6m + 7n) (6m — 7n) (i) (5a + 10b) (5a — 10b)
(iil) (3x° + 47°) 3x%- 4°) (iv)106 x 94 (v) 592 x 608 (vi) 927 - 8
(vii) 984% — 167

SQIERWLS: 302 x 308 AIfET Sx=300,a=2 b =8
|EAU&: 302 %308 = (300 +2)(300 + 8) e : (x+a) (x+b) =x +(a+b)x +ab
=3007 + (2 + 8)(300) + (2)(8)
=90000 + (10 x 300) + 16
=90000 + 3000 + 16 =93016

u




.

IETEUI16: 93 x 104 e FT AU x=100a=—7 ATV p=4
AEAUEH: 93 x 104 = (100+(=7))(100 +4)  |[FHFAT: (x+ a) (x + b) = x>+ (ath) x + ab
93 x 104 = (100 —7)(100 + 4)
=100 + (=7 + 4)(100) + (=7)(4)
= 10000 + (—3)(100) + (~28)
= 10000 — 300 — 28
= 10000 — 328 = 9672

T & AT AT 2 Tep R MR ATfed FOATIET AT AR
A UITRR HTed a0l ga a1 3ATe.

114

1. IFT GAFTET AR e @ldld JOMaR ATed .

() Bk +41) (3k + 41) (i) (ax’+ by?) (ax’ + by
(iii) (7d - 9e) (7d— 9e) (v) (m? =n’) (m* +1n?)
(v) (3t + 9s) (3t—9s) (vi) (kl—mn) (kI + mn)
(vii) (6x + 5) (6x + 6) (viii) (2b—a) (2b + ¢)
2. ANT GHEAE] 99 66 @l Rt e,
(1) 304? (i) 509° (iii) 992° (iv) 799

(v)304x296  (vi)83 x 77 (vii)109x108 (viii) 204x206

11.10 g9 o= qHIEE qIE0 6.

11.10.1 (a + b)*> = a* + 2ab + b*a1 WA=t YHIAE qUTEUN
g 9R4 98T

. b| ab b’
(a + b) IS AHIAT =ARY HIeT.
AT &FA%S = AT aW = (a+h)? atb 1 a 2 -
ATFATT STATECATIATI JRAT™ =R AR 9T,
AT ATHH o SO p AT A T SRE AT 4 " a2 b
anﬁT b TS ST ®GT STECAAT G I AT Y
3“%- a+b
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o Y [aN
WE"TGI [Qeledl AR dA%D % ARl HAN=AT SAARAT=UT SS{AT dHIA 3T|%

o S
[Qeldl AR AA%D

= T FEATIT ARATH &AFD + g ATV b ST AT AT &b

+ b3:|||a|a®|l°:]> STEAIT AT &A%e6 + b SISl AHeAAT AR SA%b

= @+ b*+ab+ ba
= a*+2ab + b
U (a + b): = a* + 2ab + b*
IR 7: %c;%ﬁﬁf=a2+2ab+bzm GATAET g = 3 ST b =2 "% qHIGAHE

. | | |
A (a+b)2=a2+2ab+fz __:__1'______'r__
a+ b ES HAAT ARH Hlel. FEUN, 3 + 2 I I I
. . - —F—+—+—+—
AT 919 U1 ARAT &A% I |
- (3+2)P7=5"=25 ; ; ;
IoEl AN = 3 Udhdh & SAFoedl dRE eERs| 1 1 | _|
+2 Teheh A9 AHIA] ARET &% l l l
+3,2 Ueheh ST5] AEAAT AIAT™ E=Feb
+2,3 Taheh A9 AT AAATE GITFD
= 32+22+3x2+3x2
= 9+4+46+6=25
Al 919 = 3ol 9T
11.10.2 (a - b) > = a* — 2ab + b*=1 EAMTE FHIAE qUTECT
(a-b) b
aaT\_g' 31%‘[@?{[ %ﬁ‘fﬂ T, f b b(a-b) b2
- RO 8% = 19 x 9 = a’ 111 IV
. FREE TR WA S AR, alat| (@b?  pab)
I 1I
.+ JTd 3ATHH a — b ATV b IS el
QI SRE ST SITFH a— b M7 b \ @b b
SIEIRIURSARGE IR EIE] ~—
HAY 3TE. a S
a-btb=a




.

AT, &5 AFAI I = ‘2’ &9 AqeAl Io1 JRAm &%
— TR 11 = &%
— ST 1 = &T%B
— AT IV A 8%

(a-b)?> =a’—b(a-b)—b (a-b)— b’

—a’_ab+b>—ab+b>—b’

—a’_2ab+b’

11.10.3 (@ + b)(a — b) = &° — b? o1 @WA=t  YHIGE €T

@~ b= (q TS FTEUTAT TREAT SFB) — (b TS| ST ARET G5 )
GTele =R I,

bsITS] (b < a) Helcl E1RC Ald <nlHl.

$b a-b a-b ,
FmauTTE firesda o-p AT G WET SR a| -
|
. !

TEUH % — b’ = STl 9 &AFs + SRl 11 &b
=a(a-b)+b(a—D>)

=(a=b)(a+b)

WM UFR a®— b = (a—b) (a +b)

gE - 11.5

: ;

1. @ e v (a + b)Y = a® + 2ab + b° THMAE! THIAE TUTEU 7.
@) a=2THH, b=4TFF
() a=3THH, b=1TFF
(i) a=S5Th, b=2Th®
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2. WA fRAd 9 (0 — b)> = o® — 2ab + b> T GHIGE JATEU .
() a=3Tsh, b=1TFH
(i) a=5TFSh, b=2Tdh

3. QT fRAdl U9 (a + b) (a— b) = o®— b* THFAET THIE TATEVI 7.
() a=3Tsdh, b=2TFH
(i) a=2Tehdh, b=1TFH

AU FE 949l Sl

1. 3% HGHId TIUTE STl derEeiar UM U=l TR
TEd. IS AT &% Hiedidl Sar=l a9 Jaraeia
feeft amed.

2. T eIl THRIGIRM IUMHR hedTd dedl Uaderd Id.
SRR UHIGI UTTEhR SR SR Fcdeh TaTE TG
TUTTRR SRTET ARTT,

4, FgIGIAT UGIel UMERR ST (e =g, Tede sgug =

TerE, feqaaldia Tedish UG ORIl JRIAl. d&rd =0
T, M IUIRRIT ATIUTE AV IUMRRIA ST AT
TaA Ue Idrd.

L La¥ L2V o o o L
5. GHIEUE ST B GHIGUTAIE adT=al 69 A Em]
qF TId. GEAT T8 SR GHIGU el Far=a1 el [aiere

qF ATATE T GHEAT BId TRl

6. tﬁl(d'\l(d HHIAGT slled.
() (a+b)’=a*>+2ab+b*
(D) (a — b)* = a* — 2ab + b*
()(a + b) (a—b) = a* — b*
(AV)(x + a) (x + b) =x’+ (a + b) x + ab

7. WA IR GAMA] ARA AT STE TETEe= [UTRRETS]
SR Ted. o Gl UMER Aifed FRUATErs) 9l TaX
qegdld geal feddrd.

u
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Fgd I

12.0 wEaTaomn
TEST, Ueh AT 42 TAT. 42 A1 HIVATE F HE=AT OISR &q1a ferfevamsn woet &
42 = 1x42
= 2x21
= 3x14
= 6x7

g aed 1,2,3,6,7, 14, 21 st 42 § 42 =s@aa smed.
A FERTIART RIVCAT Hep HEAT 3fTed d GHL.?
Tl 42 o1 Ao wEET UERTAT T1q fog edl &1 7 Waed o,

THA 3 ol RO 5@ R 7 o Hd
42 =2 x21 42 =3x14 42=6x7
=2x3x7 =2x3x7 =2x3x7

TH=T T FE AT ? ATIE S fGqA A A, s weAtd 2x3X7 71 g Sadar=A R AR,

g gadt wen 70 =

70= sz 1, 2, 5,7, 10, 14, 35 zufor 70 smea. 70 =1x70
70 2 X 5 X7 A sr@@ar=n Tq fog el =2 x 35
HITE TIEUAT &9 WY §d 3fadd Hop G ATRd. AT UTRRM Hp FaId ' q9 —5x% 14
< =7x10
? W O:
»
’ focioan ST W SEFEEETAT OTERAT T fore.
(i) 48 (i) 72 (ii) 96
o

AT JHIE ATV ST IGTECE AT SAaFaTAT UTERIAT &0 GEqT qad e hdl. a1 g2 Ao
fafae afe demafeen sEaar sga fiemr smea

-_ AT AEATER AIHT Fra<or 2019-20 --
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12.1 6w vEEER F@gq

GreAe ITeXT o .
Tyz =17(yz) — 7 0f0 yz s@aa smed.
=Ty(z) — Ty sforz s==a smea.
=7z(y) — 7z i y sEEa .
=7 xyxz 5 7, yafnz smea.

A FFmamed 7, y, z 7 AOHFR0E F909 e, AeIF0d o 05 1= 7yz =1 si9a SR,
b AT TEETAT VS SSie TamEdid aTRel AR, HAAT TR A | FROyz = [ X7 Xy Xz, aredtad
WAL H JXyXz @ Jyz 3 SeudoiE w9 . @ e w6, | KA 1 e g e s .
7x(yz) feam 7y(z) R 7z(y) ¥ sedeReia w @ AT FRAfevAT T AT

o, eEet Jy(zH3)Enaw 7y (z + 3) =7 x y X (z+3)z@
fafear 7@ 2% 7y, (z + 3) ® ATER0NT FETa ST,

g R Sx (y+2) (z+3) =5 xx x (y+2) x(z+3)a3F5,x, (y+2), (z+3) T oo
39T TR

? &

1. e s=g9 e
() 8x%yz (ii) 2xy (x +y) (iif) 3x+y°z

12.2 999 9RWEEN IRS

Stegt afote i SeFa TIedTd. deel A Sadara PERE wd fafedrd. € sEwa gen, afe =9,
IR IEET (A

st werada 23a + 23b + 23c.aw@ 23(a + b + ¢),3@ fafeara. =@ 23 sufor (a + b + ¢) ® SoEaReia
"SI AR, 23 T GEIEAT ®ATG ST aAd A (a + b + ¢) B 99w ueEd! .

st A TEEe (1) X2y + 5 +xy (i) @' — 1) = 2x—1).
et TarEet X2y + yPx +xy = xp(x + y + 1) s a2t ww A weEd den e fafeh s,

u



gE wEta (4% — 1) = (2x— 1)
45 -1 (2x)° - (1)
2x—1  2x-1

_(2x+D(2x-1)
o (2x-))

=(2x+1)

I TAEIFITTEG LT 3Tl e, e ITE0 Sfoleh qeraetd g &aq fafevamamst Suant ued sfor 9 St

TG AT ARG GEqT ITar Ted.
AT YGIEe=AT 3aTd ISUIT=AT FTel Teadi=l J=] & Al

12.3 99T A99ETEl 9EGH

T 3x +12 = sEga el

YIS IS SEFAT=AT VTR &1 frfevama saome

W3 +12=(C3xx)+((2x2x3)

TIE! TGIA WHTEE S9Ad HIVT AT 2

AHTEE S99 3 ™
IxX[x+2x2)]=3x(x+4)=3(x+4)

Fan R wemaet 3x + 128 3 (x + 4) aRd= .

e =1 I, 3t (x + 4) ® 3x + 12 ¥ 7 IgAvR @ e,
AT, GEAT YqE@e 6ab+12b = sFFa |1g

6ab+12b = (2X3 xa xb) + (2 x2x3xb)

=2x3xbx(a+2) =6b(a+2)

AT da1 k1, 6b ' 6ab
srfor 12b =1 |41, R,

- 6ab+12b=6b (a +2)

e 1: smmm e (D) 6xy + 97 (i) 25 a’b +35ab’

weauE: () 6xy + 9>

AT AT 6xy =2 x3xx Xy a1 97 =3 x3 xy x

el der™ 3 AT ‘Y W EEE e
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=, 6xy + 9y?
=(2x3xxxy )+ (3 x3 Xy xy) (F&HA T Fw)

=3x yx[2*xx)+ @B xY)] |a=m = 6, wEdn sw
soOxy 9y2 =3y(2x +3y) T, T UG Bls .

(i) 25 a’b +35ab°> = (5x5xaxaxb) +(5x7 xaxbxb)
=5xaxbx[(5xa)+(7*xDb)]
= 5ab (5a + 7b)
- 25a°b +35ab®> = 5ab (5a + 7b)
Saredu 2: EERCINIE) 3x2+6x2y+9xy2
m: 3x2+6x2y+9xy2=(3_><x><x)+(2><3_><x><x><y)+(3><3_><x><y><y)
=3xx[rt @xxxp)+ B yxy)]
=3x(x+2xy+3y2)
S 3x2 4 6x%y +9x°=3x (x +2xy+3y7) (3 x F EH I FI)

? &

saaa s, (i) 9a° — 6a (i) 15 a°b —35ab> (i) 7Im—21Imn

12.4 YGH e §99 A99d 0

weEdt ax + bx + ay + by. TR, TETA Aegd A H, e G TGTd W FaEd X7 ST, AT e
T UG A S ) e, R ATHE UGTd UHE! A SEFd ATEl. AN TREe Saud HE qIedid. 90
1.
e e FAfaeard dmvmE  (ax +bx) +(ay+by) A4,
(ax +bx) +(ay+by) = x (a+b)+ y(a+p) (T TOITT FA ST S G )

= (a+b)(x +y) (ST AT 399 ST FIGH )
ax + bx + ay + by TSEAT AT FFTATAT AVTERTAT TG FFd &al Ad.(a+b) 3t (x +y), ©

HITE AT, © AT AGIRNT AT,
A TG GEAT TEG SEAd HTedl Ad.

ax +ay +bx + by = (ax + ay)+ (bx + by)
—a(x+ty +b(x+y
=(x+y)(atb)

g =1 I, FETd TH Sed U W GH AT,

u




? &

ggma el (1) Sxy+S5x+4y+4(@Gi)3ab+3b+2b+2

Saew 3:  6ab — b’ — 2be +12ac ¥ wEE T
wEAF: Ut 1 W 9eT RIIGE QI SEd AR, T JUEl ORI, AFhE Uhel ATel.
R 2: el G UeT e uTeeTd

6ab—b> =b (6a—b) —

TR TGEdldie =l G TG A dGedl AN, A= Aig .
12ac — 2bc.

g & [2ac — 2bc = 2¢(6a—b)  ———II

Rt 3: [ emfor 11 uesr Feams
6ab — b>— 2bc +12ac = b (6a—b) +2¢ (6a—b)
=(6a—>b) (b+2c)

A 999 (6a — b) &1
AR T
6ab — b> ~2bc + 12ac = smma (6a— b) s (b + 2¢) sz

HHTE - 12.1

i) 8x, i) 3a, 21a i) 7xy, 35x iv) 4m*, 6m*, 8Sm
() 8x, 24 (i) 3a, 21ab (i) 7xy, 35557 (iv) 4m?, 6m°, 8m®
(v) 15p, 20gqr, 25rp (Vi) 47, 6xy, 8y2x (vii) 12 xzy, 18 xyz
2. @ geEdsE d9d el
(i) 5x°—25xy (i) 9a°— 6ax (iii) 7p° + 49pq
@iv) 36 a’b— 60 a’be (v) 3d’be + 6ab’c + 9abc?
(vi) 4p2 + 5pg — 6pq2 (vii) ut + at’
3. @i sEdd qmen
(i) 3ax — 6xy + 8by—4ab (i) x° + 2x* +5x + 10

(111) m’ —mn +4m — 4n (1v) & —a’b’ —ab+ b’ (iV)pzq -p » -pq + "
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12.5 GHMFAAT 99R H&T A999 I
s e 1 (@ + b)° = a” + 2ab + b
(a—b)* =d*—2ab+ b
(a+b)(a—b) =a’ — b*afe gamar sm.
R fearelt qemaelt TRt fafire gt SereA ST T SEE R T ATR SeEE qEvATETsl gl
FHE IaTe uTg AT
I 4 X+ 10x + 253 sama wren
Areana: forrea a0 e, s wfe anfn R wg ol A smRa. weve X2 A 25
(5% Yaurem wor st wR. aEe @’ + 2ab + b s v fafean 9.
w12+ 10x + 25 = ()2 + 2 (x) (5) + (5)
m%ﬁ@amaz+2ab+b26ﬁwmﬁwma@wwm%.
e (a+ b)Y A a=xan b=5am
g xC + 10x +25= (x+5)° =(x+5) (x +5) ¥

W 5: 1627 — 48z + 36 7 @A .
wEAYF: oo wemEddie GE=AT TG G HEAd STy
162> — 482 +36 = (4 x 42°) — (4 x 122) + (4 x 9) = 4(4z2° — 12z + 9) ™.
sam@ e 42 = (22)° ;9= (3 =t 122 = 2 (22) (3)
472 -122+9 =(22)*-2(22) 3) + (3)* w=w a*—2ab+b*= (a—b)
=(2z-3)°
e | [62°— 48z + 36 =4(422— 122+ 9) =4 (22— 3)°
=4(2z-3)(2z-3)
ELISUNH 25p2—49q2 Faga qret
LIECE CH HTIEAT AT AT H, TETaet & aF ol Fiadid W AT
TS A w1 o’ — bra.

TR FHTAAT - = (a+b) (a-b) aT=a.
25p7 — 494° = (5p)’ —(79)°

= (5p+79q) (5p—7q) [ a*~b*=(a+b) (a-b)]
WA 25p° — 49¢° = (5p + 7q) (5p - 7q)

u



.

SEW T2 4847 — 2436 3 smm
LIECLCR T Wg U AR W GIReld 3 B @I HEdd e, © Araedran feEd.
W 484° — 24360 =3 [164° — 81b°]
= 3[(4a)’~ (9b)°] T= - b’ = (a+b)(a—b)
3/ (4a + 9b) (4a — 9b)]
3 (4a + 9b) (4a— 9b)
e 8: x2+2xy+y2—4zzww.
ateaE: Teraeide wfeeht o o (x + )% = T afr S wg ot o s,
1%"{;?)62 + 2xy +y2 -4 = (x +y)2— (22)2
=[xty +2z] [(x +y)—2z]
= (x+ty+2z)(x+y-2z)
wIEw 9 p’ - 256 s L @ — b = (a+b) (a-b)
wteanE: p? =77 wfn 256 = (16)°
sk p?—256 = (p*)*=(16)°
=@’ -16)(p’ +16)
= (p+4) (p4) ( p’ +16)

T/ pP-16 = (p+d) (p-4)
12.6 (x+a)(x+b)=x>+(a+b)x + ab Taa FaTq

X2+ 12x + 35, X3+ 6x — 27, a*— 6a + 8, 3y> + 9y + 6.... TgmEchaT fifkem w1, 1 TEEA AT

X%+ 12x + 35 =,

a1 T UG FeFA TIEUATEIS! ¢ A9adl 3d A6l 35 T AT G SEgAThS IIg AT, SAT= sRiw 12 Id. T X+
(a + b)x + ab = = .

TORTEH 9 TR SagaaT=aT R &9 At

35 = 1x35 1+35=36
(1) x (-35) ~1-35=-36
5x7 5+7=12
(=5) % (=7) 5-7=-12

AT TS SIS AT TG T Bid ? dhferss fem @ 5+ 7 = 12 s,
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X+ 12x+35 = X2+ 5x+Tx+35 (- 12x=5x + Tx)
=x(x+5+7(x+5) (W= FFFATAT TR b F )
=x+5x+7) (amT srEFa (x + 5) AR F )
aﬁﬁaﬁamamﬁaﬁﬁﬂaﬁﬁ,x2+(a+b)x+abwﬁ%éwwa?ﬁ%amqﬁmaﬁﬁ(x+a)
(x + b) smea.
sarew 10: m” — 4m — 21 s o
m:m2—4m—21ﬁwx2+(a+b)x+ab T FHEEAM el ST SATIUTE AT Ad H,
ab=-21, st a+b=-4. w=E, (-7)+3 =4 (=7)3)=-21
5 5 21 s@ga ATfor AT SR
wH m- —4m-21 =m" -Tm+3m-21 1 x21=01 1421220
—m(m=T)+3(m—7) |LxC2D=-21 1-21=-20
[c7x3=221 —7+3=4]
=(m —=T7) (m+3) 3x7=-221 3+7=4
= m® — 4m—21=(m—T) (m+3)
sarew 11: 4x° +20x — 96 s e
wEAYF: AT AT A, 4 T A9 GGG AT HaTT TS,
Fo TR 47+ 200 = 96 = 4 [x° +5x — 24] [ 35 3 s o o S
a, X2 +5x — 24 —1x24=-24  -1+24=23
: 1 x(-24)=-24 1-24=-23
=x +8x—3x-24 8x3=24 3 -8=-5
= x(x+8 -3(x+8 [ 3x8=—24 3+8=5]
= (x+8)(x-3)
o 4+ 20x— 96 =4(x+8)(x—3)
| FumE - 12.2
1.
(i) &+ 10a + 25 (ii) P — 161+ 64 (iii) 36x° + 96xy + 64°
(iv) 25x2+9y2—30xy v) 25m® — 40mn + 16n°
(vi) 8]x2—]98xy+]21y2 (vii) (x+y)2—4xy (g= : foear &= (x +y)2

(viii) I+ 4P’ + am?

u



.

2. @did FEgd arel

(i) x’—36 (ii) 49x° — 25y2 (iii) m’— 121
(iv) 81— 64x° v) x>V’ — 64 i) 6x° — 54
(vii) x’— 81 (viii) 2x—32x° (ix) 8Ix* — 121x°

) (0’ =2pq+q) 1" (xi) (x+y) =@y
3. wEd sEEa &
(i) x> + mx (ii) 7y2+ 357 (iii) 3+ 6x3y +9x°Z
(iv) X’ —ax—bx + ab (v) 3ax — 6ay — 8by + 4bx (vi) mn + m+ n+1
(vii) 6ab — b + 12ac — 2bc (viii) pzq —prz —pq + " (ix) x (y+z) =5 (y+z)
4. @@ FEEd 9TEl
@) x* " (i) a’* — (b+c)* (iii) = (m—n)’

16
(iv) 49x° - br o) x* =257+ i) 4 (@+b)* -9 (a—b)®

5. @e qeEd 9T e
(i) @’ + 10a + 24 (il)x2+9x+18 (iil)p2—10p+2] (iv)x2—4x—32

6.  UH BT SIS St quifaEen AT, ST A She geaT quife §EAT e, AT U & 21
arfor afeell 48 ST, TR AT FAld e TS i wal.

7. x2+3xy+x+my—m6ﬂx,m&ymé%ﬁawww%%mm‘m’%ﬁﬁmam.

12.7 & GqEEET ARTER

ATIATAT AT ATE I, WETHR & UIRRT= Sofe foram sz,

3x x 5x =15 x*=m.

. 15x 4+ 533 =3x anfr 15x*+ 3x = 5%°

@ W 6a(a + 5) = (6a° + 30a)

A (6a2 +30a) +6a = a+5

it (64 +30a) + (a+3) = 6a.

12.8 UEIGET TEAT TEHIGH AT,

24%° = 3x =,

240 + 3x
2X2X2XIXXXXXX

3xx

(Bxx)(2x2x2xxxX) 5
= 8x
(3xx)
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e 12: Greilel WRITRR T

() 70x7 + 14%° (i) 43°2 + 12x)z
2XSXTXXXXXXXX
) . 4. 4.2 _
weAF: G 70x" + I4x X X T X x
SxxxXx

1
=57

4XXXXXXXPXYPXYXZXZXZ

. 333 _
(1) 4xy'z + 12xyz 12X XXy X2

12.9 vgEHET THUGH ARTHR 60
P wEER e W

6x+10x° + 8x2 = 2x% TRIEH HHTT.

6x4+]0x3+8x2=[2><3><x><x><x Xx]+[2 x5 xxxxxx]+][2x2x2xx XXx]

= @) (3¢%) + @) (5x) +27 (4)
=2x% [3x% + 5x + 4]

asm wER (6t + 10x° + 8x2) +2x?

2x2aww3n%m%ﬁ:ﬁa

B 6x* +10x° +8x7 B 2x% (3x* +5x+4)
2x° 2x°
= 3x?+5x+4)

FFCITRIAT TSIl Wcieh IgTH Teh UG- @Ievar=aT Uegd =T a1R Fed WRIHR 0T,
(6x4 +10x° + 8x2) + 252

6x* N 10x° N 8x”
232 2x* 2x?

=3x’ + 5x + 4

Y ST YeTde=aT Yol TerE
Derdiel ThIGH | .

u



Saew 13: 30 (a’be + ab’c + abc®) @1 6 abe ¥ TR .

aEaE ¢ 30 (a’bc + ab’c + abc?)
=2x3x5[(axaxbxc)t(@axbxbxc)t(axbxcxc)
=2x3x5xaxbxc(a+tb+o)

sam = 30 (a’be + ab’c + abcz) + 6abc

_ 2x3x5xabc(a+b+c)
2x3xabc

=5(a+b+o)
Fepedtardar 30 (azbc +ab’c + abcz) + 6abc

30a’be N 30ab’c N 30abc’
6abc 6abc 6abc

=5a +5b + 5c
=5(@+b+o)

12.10 9EEET 9gEeH ARMSHR

(3d° + 21a ) + (a+7) =
afeean sm@ 3a° + 21a ¥ s Mg A=A Dl AU e deEE Foa T

3a* +21a

3a’ +2la)+ (a+7) =
(Ba”+2la) = (at7) = ==

3a(a+7)
=———F7— =3a
a+7

= 3a

IaRW 14: 39°(501° — 98) =1 26)° (5y+7) ¥ wmER @
wrEaF 39°(500° = 98) = 3 x 13 x y x y x y x [2 (25°—49)]
=2x 3 x [3xyxyxyx[y)=(7] | &b = (a+b)(a-b)
=2x 3 x I3 xyxyxyx[(5y+7) (5y-7)]
=2x3x I3 xyxyxyx(5+7)(5y-7)
w2675y +7)=2x13 % yxyx (5 +7)
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[397°(50y° ~98) 1+ [26y°(Sy + 7) ]

[2x3x13xyxyxy(Sy+T7)5y—T7)]
2x13xyxyx(5y+7)]

3y (5y-7)

S 15: m°— 14m — 32 & m+2 ¥ WETHR 1.
Weaws : om’— 14m - 32 =m’ — 16m +2m — 32 f@ 2.
=m(m —16) + 2(m — 16)
= (m — 16)(m+2)
(m° — 14m = 32) = m+2 = (m — 16)(m+2) + (m+2)
=(m —16)
W 16: 42(a’— 136°+364°) =1 7a(a — 4) % wmER w7
HreaF 42(a’- 13a°+364°) =2 x3x7xa xax (@ -13a+ 36)
=2x3x%x7x%x a xax(d —9a-4a+ 36)
=2x3x7%x g xax[a(a—9)—4(a-9)]
=2Xx3x7x a xax[(a-9)(a—-4)]
=2x3x7xaxax(@a-9) (a—4)
42 (@*-13a°+36a°) +7a(a-4) =2 x3x7x a xax(a-9)(a—4) + 7a(a —4)
= 6a (a—9)
S 17 x(3x° — 108) =1 3x(x — 6) ¥ ¥R @
HreaF x(3x° = 108) = x x [ 3(x’ —36)]
= x x[3x°-6°)]
x x [3(x +6)(x—6)]
=3 xxx[(x+6)(x-06)]

x(3x2—108)+ x(x—-6) =3xXxx[(x+6)(x—-6)]+3x(x—06)
=(x+6)

u



J9 M - 12.3

. Uid 9RTHR .

() 484° =1 6an (i) 14x° a1 42x%%

(iil) 72a°b*¢ @1 8ab’cx (iv) 1Ixy’2 &1 55xyz (v) =54U0m’n® «v 9Pmnn
2. fooie FEURIAT USTGH HETER .

() (3x*-2x) +x Gi) (54°b—7ab’®) +ab

(iil) (25x° — 15x%) = 5%° (iv) (4P - 61* + 8F) + 21

) 15 (@b°P- b+ a?b°) < 3abe (Vi) (3p°- 9p°q - 6pg°) + (<3p)

. 2 242 2 4 2 2. 1

(vii) (Ea b c+ gab c)vaabc
3. @l ARTRR .

(i) (49x—63) +7 (i) 12x (8x—20) + 4(2x - 5)

(iil) 11&’b>(7¢—35) + 3a°b’(c—5)

(iv) 54lmn (1 +m) (m+n) (n+1) =+ 8Imn (1+m) (n +1)

V) 36+ (F+7x+10) ~ 9(x+4) (viya(a+1)(@+2)(@+3) +a(a+3)
4.  UCES A UTET AT AT TRep HRMRR .

Q) (+7x+12) + (x +3) (i) (- 8x+12) ~ (x—6)

(i) (P +5p+4)+ (p+1) (iv) 15ab (@>~7a +10) + 3b (a—2)

(v) 15Im (2p°=2¢°) <31 (p +¢q) (Vi) 262°(322°—18) + 132°(4z—3)

R =q, = w0 snfir foer.

fafaa frn smodt aSiie TeEe! AcfavEERl FTE =i @ TR Aiefae. Tl heedt G gRel
Hepg IRl 1 ? 3 IR fosel,
1. #omm, feoe e g srafaearyH T |refass.

x+4x +x+2x=90

Ix =90 wm™ x =10
AT el et T Tt o ?
HO@, TS T kel Trel SAleg Thal & ?
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T g 2 ¢ AT | @Tel FHTO ket R FEATAT UTRR FATT HETET IJTIR
TAMIX =—4, 7x=7—4=—39& |Fogr=l qeav a1

T yeheq 3 : S A W A Grellad Ugdiaed Ssiih UgTaeEl IUTER kel FUTET UG HGE SATe.

TITE T,
i g
(i) 3(x—4)=3x—4 3(x—4) =3x—12
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3(99 +21) =T 3 =T ek e, FeUM SK TG A=l RISl (3+7+8) & 3 =1
U 318 TR AT Gl 3 F qU HET Sl

9 =t fwrsTar .

378 <1l 378

300 +70 + 8 38 forerar aq.
=100x3+10x7+8
(9+1)3+(9+1)7+8

99 x 3+9x 7+ (3+7+8)
911 x3+1x7)+(@B+7+8)
9(B3+7)+(3+7+8)

9(33+7)éa@13%ng\v@3n% TR feoedr aeden 9%130?%4111%31@?{6?(3
+ 7 + 8) 9&dlel hlHEl XIS "HaaT 9 EITW

FeTT 3Tan fow ooy % A,

SR 100a+10b+c ©f T 3iehl G&AT A Bqelt oR 9 37hl HEAT dgaal o=t ae
T ‘2’ T T b Tehdh [ ¢"3TTe.
100a+10b+c=(99+1)a+(9+1)+c=99a+9b+a+b+c)
=9(1la+b)+(a+b+c) = T FHMET KIS
9(11a+b) Tl TEAT 3 SATVT 9 =T IOk 3ATe. FEUM AT €E&AT 3 Toha 9 7 quf w1 ST,
FIATE! TN ST SIS (a+ b +c), 3 =T fohaT 9 =T 07k 318 R AT
9 3 F WR AT (a+b+c) WRT ST,
T faaTsaarn 7o 3 sTeRieqT ST sehl AT AR] 9eal 1 2 5 AT 6 3ehl TEAT
BFA T T,
FIUTATEN GGAT 2,5 AT 10 5 WA ATl foF AR € Ucheh TH=AT 3TehTeRT
HIAG FEA T ATV 9 7 AN Sl fham ATel © | SRR METRa 319 ©
WARNETRIGH
T
1. @i feoiear geamT 3 9 9 F ffar 3 3mfvr 9 Seem AWt STran o
Sl e Tel?
(a) 3663 (b) 186 (c) 342 (d) 18871
() 120 (3789  (g) 4542  (h) 5779782
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IGIEL 2: 24P T 3 ARICA® {3 1 Tgd. SR 24 PAT 5 7 AN {3esh
2 TEd W P foRad e

AIEaUS :  SR24 P 5§ A ANATE 2 fieass Teq saa @ Pt faa 2 foram
7 3G TR,

SR P = 28"l TR 24 PAT 3 o ANTeaTd 2 farecteh T8 P = 78#STel @) 24 P T 3

F AR 1 fueds Ted FUA P = 7 SRR TR,

SR 345 A 791 T 3 F IO AN A A4 R G A R Fre.
SR 2791 ATT GG 9 7 U1 AN S1d 38 O G ‘A’ = fohaa @,
2,3,5,9 HATIVT 10AT SRTET ART STUMTAT HTE TEAT {2,

2A8 AT 2 9 TUT ART STl WA= T feordt sm@a 2

SOBET 5 < qUT WRT STl o) Bl fohwa fordll 318t 2

2P AT 2 AT 3 9 YU 9T Sl ok P foRwa foRdt smra.

547 T 5 7 AR 2 f3edeh Ted MU 3 5 9N 1 feede Ted @)
z = foua Frer?

8. 27Q @ 59 ARMeaTE 3 firedter Ted T 3 ARTeaT® ot fireeten Tedta ?
15.1.8 6 < fawrsaan :

6 =T TETGT Uk BT GAT 24 B,

24 T 6 1 WRT SAl € Hifed™ ITe.

24 AT 6 =T JFFAT ART ATA HME 2 5G 3 A0 2 A

24 =1 THE I 4 ATE FGUM ATl 2 o AR ST,

24 =T 3HTET SRS 244 = 6 Id 6 BT 3 ° WHT Sl
ST, B 6 =T GET VRIS ®IET BId 1 TSdTgA H

AT 3T FeUIAT U=l <l SR T@TRIT G&IlT 6 ° U AR STq 3T8d o) T aedal
6 = @FT 2 ATV 3 « FEaT AR Sl

=T AT, SR (e fageg foaR &% 4.
TETG! GEATAT 2« 9N Sl TSl 2 { 37a9d AT, SR el 3 ° AR Sral wgorst

3 Hop da9d 3Te.

NSk -
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FEUH SR UETRT §@AT 2 AT 3 9 91T S 8 R 2 A0 3 & AT b Hada
TIed, 2 ST 3 =T TR 2x 3 = 6 E&T AT GG Ja99 Tied.
SO USET SR UETRIT §EATel 6 ° AR SI1q 38 R AT Jedal 2 371 3§ geal
qRT AT,
g =
1. WEd ST 6 9 I AN ST 1 ATel qedled e 9l 2
(a) 1632 (b) 456 (c) 1008 (d) 789  (e) 369  (f) 258
2. WA G AT 6 F IU 9N STl 6l ATel YSdid e el 2
(a) 458 +676  (b) 6° (c) 6°+6>  (d) 2> x 3°

15.1.9 4 zfor 8 =it fawrsaan

(a) EFSIT 1000a+ 100b + 10c +d =T TR 3{ehl HEAT 3Te.(250a + 25b) + (10¢ + d).
4(250a + 25b) BT 4 =T U 3. SR TeoiedT T@=AT 10c+d T 4 § AR ST
U A T AT 4 T IO AT S,

feoiedT Tei=a1 Sae=aT G Sl Sl G@iel 4 ° IO 9N S 3fd O T

TG 4 ° qUf AR Srar fopan
fooiean TR S9eT 3 0 ST O AT 4§ YU qRT STl

TR 3R TEUAT IS AT USA A foaegd &A1 foel. Teheh €Ml 9 U
T 4 < Uk A FEAT foagidr a5a & 2

4 =t fqaTsaaT Yae=AT TN SRR STURIT STad fof TRl © IR 37kl SeuE /el
AT ®SA qedlgd el

(b) 1000 x a +100 x b+ 10 x c +d B IR 3hl TEAT ¥ 1.

1000 x a + 100 x b+ 10 x ¢ +d=1000a+ 100b +10c +d =8(125a) + (100b + 10c
+d)
8(125a) W1 8 < WgHI WRT SAl. FeUM feolcdl d&al 8 o HRT STOITETS0
(100b+10c+d) T 8 & WRT AT UTieat.

SR feoean Se=a Sae=at TF ST 8 W qUf AN ST 36 fohaT SE=AT e

T 3 0 3T TR AT U7 gl § 7 HRT Sl

TETGT AR TRl TEAT AT ST 9T B3 g faega wuta forer. uees, gy 9
A T 8 = U Adelel! G feifeal 5 & ?

T@TEl TR SR ST WISl WA ST, A § W faAeaan see JEee d
AR AT e, fohaT TRl 9=dTgA Tl
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IGIELUN 3: 6582 1 4 o WRT Sl fohall ATel TSdTegd Ul 2

AIEAUE: 6582 TEIT YFE=AT TF S 82 T HEAT 4K T, 82 T 4 1 AN
ST ATel T fodiedn 6582 €At 4 YUT WRT G ATEL.

IQIEXW 4: 2876543277 8 o qUT WRT SITAT T A6l Tedlgd oHl 2

AU : 28765432 IT GG AT T IR 432 T GGAT TR B, 432
@ 8 W WN STl ¥V fooiedn G § 7 qUi W STl

SR GEddT 8 Ul 9N Sl AT Gl 4 § gEaT IO AN Sl U SAT gedal

8 = eaT Ul 9T ST, 318 FgUIAT Id ATEl. 8 AT |4 VIS 4 « q0 9T S,

qUT 4 =T |4 UIHTAT 8§ AR Q= 36 ATel.

® (T Fm

1. Qe feolcdT 99 GEATT 4 = 9T (Al &6l 8« 9T STl ol 2 o

4 o1 8 TIREI AR SITAT &1 o FdTead Uel.

(a) 464 (b) 782 (c) 3688 (d) 100
(€) 1000 (f) 387856 (g) 4* (h) §°
WIS &7

[, T feoear o4 ST 4 3 AR SEr . 8 ° HWRT S
F12 foRaT 4 3 8 7 QFel WRT SIAT 1 O TEdTgA |0
(@) 4°x 8 (b) 10> (c) 10°+10*+10° (d) 4°+4>+4'-2?

15.1.10 7 = foreTan
100 x a+ 10 x b+ ¢ IT A9 3Tl AT Treired ymr Terfedr ad.

100a+10b+c =98a+7b+ (2a+3b+c)
2 4 T WS E9d ATE. FEUA A HHIES SHadd TG (g T,
—7(14a+b)+(2a+3b+c)
7(14a +b) T 74T 0T gngma+3b+c)W7ﬁmm:ﬂﬁaa?
ﬂ@?ﬂ7ﬁgﬂf‘mﬂ :
JETERW 5: 364 A1 77 AN ST & 2
WEAUH : 3T a=3,b=6,c=4,(2a+3b+c)=2x3+3 x 6+4
=6+ 18+4=28 (28 @1 77 quf W wrar)
TEUA 364 AT 7 IO AR STl

1,2,3,4,5,6,7,8, 9 AT SehTIehl GEAT=AT GIF 3T, 2 5 HET VKN HEAT TR
. W@W?ﬁﬂmﬁ3%wmwnﬁﬂwww FEATd =1 AR
HEM, 4 7 AR VRS G&AT TR .

SIS :123654987 TUTEH <Tel,
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Y | ww

1 TEwel |TERe AR §E@T B 7 =1 faWsaar e aedigd gel.
2. 3192 fe @@ 7 =1 Uk e, A 7 =1 fawrsaar e uearga uel.

R &
1. Qe feorear @@t 7 9 qUIIET STl o6 ATel 2 98dTad Iel.
(a) 322 (b) 588 () 952  (d) 5502 (c) 4438

15.1.11 11 = frersaan:

10000a + 1000b + 100c + 10d + e

Y 11 A GMRE Egd FUA S HIg A1, AT A guEl @l
R FE AT,
= (9999 + 1) a+ (1001=1) b+ (99 + 1) ¢+ (11-1)d +e
=9999a+ 1001 b+99¢c+ 11ld+a—-b+c—-d+e
=11(909a+91b+9c+d)+(a+c+e)—(b+d)
11 (909a + 91b +9¢c + d) T 11 7 IO FHT SATal.

SR (a+ct+e)—(b+d)TT 11 7 YU AR ST 31 R oot T« 11 4 qof 9/
ST,

TEUNE (a+c+e)— (b+d)=l foraa 11 far 0 3R,

TR T I TIMTERIA SR SRS (a+ ¢ + ¢) 9 TH T SRl SR

(b + d) T T G ST Farehl 11 fhat 0 79 s8a O <1 " 11 qof

AAT AT,
EICIGESESIRCLCIN
.= AT AT FgT I Fe| FrE AT Fg I e e
T TR SR SN | g eeEdd S S AR
308 3+8=11 0 11 — 0=11
1331 1+3=4 3+1=4 4 —4=0
61809 6+8+9=23 1+0=1 23-1=22

I YU GeHd ATeg 31Tl i, B 11 TRam 0 e T i €9 T&AT 11
= g AR S,
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508177 TEATA fIod TIHTERIS STl sisl F 99 TIMERI SRl SR (5 +
8)— (0 +1)=123d FEUA 5081 T 11 o /W A ATEl.

T

1. GrEa fooean G I 11 9 9E STal 1 ATE qedrel Fl.
(i) 4867216 (i) 12221 (i) 100001
123 €l TIF 3iehl |EAT =
a7 Gl aMer T, 123123, 3%
AT, T AT SATS[ohgd I9dlche foIoH TGRS 3/ehT=l oIS a2 1+ 3 +
2=06
AT T TTAT SSlohgd Sl &9 e @H TAMERIA 3Tl oKl al.?
2+1+3=6
oo

qIeel SIS asTarehl fohdll I 2 I7I A5 1 ATEN o |AIT FEUA 123123 ATHEAT
11 F qof AR ST,

ISl T 37! TEAT BT T QIGT {o7g |61 TR 1. T J&Aal 11 F 7R

HacH A,

1. 789789 T 11 = WNT STl ST qUTEUN &,
2. 348348348348 T 11 o WRT SIIAl hT 2 AATEUI .

3. TS 9 IAc G HATe! A=Al R GHI JUIRT HEAT 4.
ST 135531 SATT T 11 = HRT STl T AT 2 Tor|oi .

4. 12343210 11 o HET SIIAT 7 2 QT R,

e - 15.3

1. Qe oo 9 I T 6 F 9N Al foham ATEl gediet 2
(a) 273432 (b) 100533  (c) 784076  (d) 24684

2. e fodean T@m T 4 9 Ul 9 Sral fRar Al qednet 2
(a) 3024(b) 1000  (c) 412 (d) 56240

3. @Teid fooledn ST 8 9 qui ART S|l T ATel Jedlesl 2
(2) 4808(b) 1324  (c) 1000 (d) 76728
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4. @A Tooiedn T 7 9 qu AR STAl & ATel gediesl 2

(a) 427 (b) 3514  (c) 861 (d) 4676

5. Qe feoledm S Il 11 o U 9N SIal &1 ATel Jediel 2
(a) 786764 (b) 536393 (c) 110011 (d) 1210121
(¢) 758043 (f) 8338472 (2) 54678 (i) 13431
(j) 423423 (k) 168861

6. SR TR GG 8 7 AN Sd A4S R qlAl 4 § GE&T AE ST 2 T .

7, 4A3‘gﬁaﬁ7raaﬁﬂw 984 IT TEAT fHesfaea@ 13781 IR 3Rl &1 IR
I, T G&e 11 1 qU1 9N Sl O (A + B) =1 fohAq e,

15.2 ot @t fawrsaar faaw

(a) AT UG HIel fqwrsaan o 91 .
TUST 24 =7 G99 12 3TE.

129 THI 999 1,2,3,4,6,12 3Ted.

AT 24 T 2,3,4,6 1 HET ST &l TGl TSATGT SHT. 24 1 12 =1 (ohes
Ul I AR ST, o

SR T Sl gEAT He qUf WA S s ok @t = gt ()

HITAT GEGT W SIIQl, 3 FgUra ad.

(b) 80T! Ueh |EAT =41, 80 T 4 «f SATIVT 5 ¥ JUT AT ST, 80 WT 4 x 5 =20 GEGT
AW S, 52 4 a0 5 Hefs @@ sed. (4 AT 5 A1 AHRe sadd
el

TEF 60 AT 3 AN 5 IUT AN AT AT AT Ja9d AR 60 o
3% 5=159 WEGT HET S,

TR <’ FATIOT beAT HIHI‘:‘:% FaTd T AT ‘@’

T A TR UIEH qqTE).
(c) 16 3ATMT 2091 GF |EAT =41, AT TIvel ST 4 o qUf |RT Sl 16 +20 =36

ST gegT 4 F o wRT S

16 SATIOT 20 AT=AT ATHATES ATSTEHT Hleld = Fe .

YT VT T&I=AT SHedT=l USdTesvil ael.
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SR G Gl TH §EH AR ST 38 TR AT G ST Sofell
EgT AT TH g& 9T Sl

(d) 35 3ATMT 2041 Tl TEAMT 5 A qof WRT @l 35-20=15a9
HEATAT AT 15 7 G 5« AR SA1.gaa1 S@I=1 Seial U3 6
T .

oy

1. VAT FEATAT ST H3 Aaied akid aR = qedieat
g ST

2. 144 T 12 7 AN G 144 W 12 T G FAIAT AW
ST a6 2 fes L

3. 23424+ 2° QT 29 W Al UTEdTel qigA el 2 eg .
33 _32 |1 3 AN Al T qSdTeAl IIgH 9T 2 eg o

HIVIAIE! Ueh §EAT Teld &ed {o=a1 qaw=aT G GEaT=T UTRR a=T. S 4x5%6
=120 TUTRRTE 3 F 9T STTAl. FROT AT FFAAR I SRR 37 =1 3 =7 01k
TR, AT TR RIVATE T SFAAR TR Teh GE&AT 3 =T Uk 3Tl FEUH
T FHAR FEIT=AT UMHRE 3 ° AR Sl

Yqcd
1. 1576 x 1577 x 1578 T 3 ° ST STl &1 ATel TScTeal hel.

I g@@gret 7 =1 fawsaar fam

ATIOT A 3Rl F&IETST 7 =7 fasrsadar 7w ==ier . SR 9 3Rl SeI9eT /sl
T 38 O 7 9 Tawrsaqr quEs 99 31e.

7538876849 AT 7 W HWT SIIAT < "ll‘éf\l Jedlcd bl

I | AT IAAIHRGA AT FS AW A\ TEEAT AT AAR FR SR
AT TE 3 HMUEAT HHI 38 aX AT Tdh T FqHAT

7| 538 876] 849|
DC B A
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IRRI 2 : UF M A Uk =T OIS T S8 A+ C ST B + D,

849 876
+ 538 + 7
1387 883
IIERE 3 ;883 WEF 1387 AN GRT. 504 I3 SATAT 504 AT A Skl @edaT 7
ART AT T AT quTEr
1387
~ 883

504 7 =1 fawrsad=an foAEER 504 @
7 9 9N ST oA feoean g@der 7 9 9N SIa.

7
1. 10 3Rl &1 B3 11 =47 faarsaar FaEmen 9= geadie
EERIFI RGN

84763A9 AT TG 3 1 U1 W SITal. GG ShT=l KIS e GeoIddl 3ieh AIed
FE AHAL

8+4+7+6+3+A+9=37+A. 39 AR STogramst A= foeaa 2 forar 5 fram 8

,_ A9E - 154

y = |

1. 25110 45 9 9N STTAT 6T AT qUTE0T .

2. 61479 81 F WNT STl T ATl qUTEUN .

3. 864 AT 369 WRT SITAT T ATl qUTEVIT ST 2 864 T 36741 €9 T@TETHl AW
STal 5 2 Taeg o=,

4. 7560 42 7 AW @1 ? 756 1 42 =T 99 FGFAT AR SAT o6 fee = ?

5. 2156 11 STTIUT 7 9 WRT STIAT T ATE! 90 ST 2 2156 < 11 SAT0T 7 =37
TR ART ST 1 ATE! 2 a3,

6. 1435QT 5 SATOT 7 F AR ST HE 2 1435 A1 5 AV 7 =T (UMHRM AW
STl @ 2 faeg @
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7. 456 3T 618 T 6 A HRT SITAT KT 2 456 3TN 618 AT ST 6 9 WRT STAT
T 2 faer .

8. 876 ATVT 3457 3 4 WRT SITAT &1 2 876 IATMVT 345 =T WRTAT 3 ° W STl
T2 TYTAN K.

9. 222304 e 2 feRar 4 foRam, 2 afor 4 7 WET AT w2 qUTEE .

10. 322> 4 fepar 8 foram, 4 3nfor 8 QFEMEN WHT ST @ 2 TUTEUN .

1. A679BEI Ueh 5 37ehl HEAT 3Te. TATAT 72 F HWNT STTAl aR A’ 31T{ur B =t fohora
FET 2

15.3 fawsaar fAgwmeR smamla @ rEl |

] i ger fage aeslt Yo Wod Sfed. T QrETdIe GHTSH @lerd JHT
ST,
T FEUITEA! |l Tl Ueh U9 Fa=mr.

gUT:  TH, qF el dC1 Teid &R,
[ R, | R GRAl (@ 75 e X )
T GEdld AHAT AGAEGd hed qd] e IR 9.

A R

gaT: g eId SRl gedd g A4l §e fHed

RN =, fwefaar

qaT: AT, LT Icaqal 11 = A et 0 fareeren
RIE

TG: T, I JAT F Fpd ?
TFEl A1 SThdT 12 AT e hepled o 2
FAT AT GATAT HISAHNA qeh GG B 4T,

S
AT AT 102 + b GEAT JeId exelt (2 g et

“g” 3T T “b” 3T a # 0) TATAT 10 x a+ w\/

b= 10a+ b TIEIdT I, T8 AT G&H IAC Fed™ 10b + a BEEAT I9d. IT o

TEAT SIS HedT8 ATAT (10a+b )+ (10b+a) = 1la+ 11b=11(a+b) BT

Tl RIS AgHl 119 Uk 8. SIegl T akeiel 11 9ol degl ARTHR (a +
b)IAT ST TSI R a AT b =T sRel VA T,

Tl G RIATRN G HE&AT H3A qumEvil e Sehdl.
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T wT

1. SR Greiid T Jeid &ReaTd {iehret ATfed .
()37 ()60 (i) 18  (iv) 89

2. U fohohe 9T 11 WeaTg 3MTed. e ®ide 10x +y Zdch fe-ar8
faerd =qel. @l IRRT 10y + x 3k fe-or¢ fashd BA WeaTgl
T e TR 11 Wl areear™ ot a1-9¢ freeen Tedia 2

TAd Wealgell fohdl fe - 1 areara adid 2

fEr w0, ==t & sfr e,

QEF ?m':IUIEiIéI aT'T IRl TEAT ‘!éla O], TN TRl €T 61Q'C'1I®|Q'€'1 chr

T AT IR T, AT TATA ASH AT STl ol ATTaTehl edl 9 § 1T
STl R 2

T &

1. T 29 “10a+b%eb 3Ted (a # 0 ATMOT a > b). ATIHT “10b+a
Tdeh] Fed ATAR]. Il Fb 9 SHTAT GH dledt a8 fordt o8

fSrecter TR, Wleh ST fordt W8 aTedTert Adie?

15.4 o9 3kl &I @b

qgT: AT, O Skl §EAT Jerd &R
G ;. BE, (AT 157 =4l

gaT: OGS MG Searaed ded AlGI] SEId deM §E]
CEINC T

RN
qHT: %S’ql ATIAT I 9 fohaT 11 9 W 2. "o fagam™ sie AT 0

1 - @H,Wgcﬂaﬁ%wm?
IR, GETAT T HDBS ?

AT 3 3Rl FEAYHTY 4 3Rl HEHAN deh GEal d1g SThdl 100a + 10b + ¢ AT
=T FHRAT SH FGATE 100c + 10b + a
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IR (a> ¢) GIvel TEIHLTA T (100a + 10b + ) - (100c + 10b

+a) =99a-99c=99(a—c)=9x11x(a—c)
IR (¢ > a) GFel HEIHENT e (100c + 10b +a) — (100a + 10b
+a)

= 99¢—-99a=99(c—a)=9x11x(c—a)
AT SR a =, deeT qivel GEIAT Wb <0 Aze.
I YT HEATd SATolel IR 99 VT 318 0 FeU[A ATHEAT 9 ST 11 7 ot
W ST 30T =T 9ARMRR (2 — o) ot (c — a).

T W

1. A Fedl GTelid GedEled Sed 9Sdle ol ?
Q) 657  Gi)473 (i) 167 N ()N85

I\@ucu M 3Rl |&AT BT, ATl 3Rl SAcATSed hed Adi
&A1 TR T, S (ABC, BCA, CAB) STa1, a1 q9 iR T
ST L. 9 RITAT G el ART STTal 2

15.5 geosAm @R @le:

STV SROTHEDS HEA=AT Sh=AT SR 0S8R B3 (M hie dUR e
YR, SATHEN RV 3TER HIUAT 37k cifardl HIfed i Fd. JedT el sk
HIVT ISR He €IS AT

FIe Arefavara T e SR,
1. Ueh R Fd Ueh TSN ATRIE Uk 31k Uehldl SEATATST ATIRTS
2. HRAd Tt fordi=aT Tl 9 3 g T

3. bl %ad Uchd 3cdX AHA l‘Illr\‘é\ﬂ.

IR 6:  WTedld sSoid A= fohd wrar 17A
+ 2A4

407
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AIGAUE : oI SIS TTedl A+ 4 = 737Te fram 100+ 70 +A
A A=3 200 + 10A + 4
173 +234 =407 300+ 70 + 11A+4 = 407
ITA= 33
A= 3
SERRW 7: Y+Y+Y=MY A& MY = fFAa el
WEaU® : Y+Y+Y =MY
3Y = 10M +Y
2Y = 10M

= % (FEUSIA Y AT 579 |RT STt #gUH Y = 0 o 5)

T YA, SR Y=0, Y+Y+Y=0+0+0=0, M=0

TRY=5 Y+Y+Y=5+5+5=15MY=15 T M=1,Y=5
IS 8: A2 — 15 = SAWEA A2 AT SA S 3ich! TEAT Ied a A FIel
WEaUSH : 2-5=a ¢ I 3¢ fFAT (10A+2)—(10+5) =50+A

SRl 12-5=7, 10A-13 =50+A
’IH A=7 9A =63
A =17

JETEIUT 9:  5A1 — 23 A =325 HEASAL AT 23A I iRl HE&AT e R A FET
easd: 1-A=5 ? a1 (500 + 10A + 1) — (200 + 30 + A) = 325

TS 11 —A=5, 501 =230 + 10 A — A= 325
TEUA A=6 271 + 9A =325
271+ 9A =325

271 =271 + 9A =325-271
9A =54

A=6
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JCTEIT 10: 1A x A=9A HAEY A AT 9A T 3chl TE&AT 3Ted IR A FIET

AEAUH : Ax A=A P 10+A)A = (90+A)
1,5, 69 & 9T 10A+A2  =90+A
Ix1=1, A*+9A-90 =0
2 2
_ 9 (9) (9
e we243)+(3) A3) -0
6x6 = 36,
SRA=6, [ _] __—90_ 0
16x6 =96

() =%

At 9 21
2 2
A=2_¢

2
ISR 11 : BA x B3 =57A. A0 BA AT B3 G 37ch! T&AT 3T, 57A Il 37ch!
AT e TR A AMIT B e

AIEAU® : AN ISRV ATIVT el F YT TG ITeaT=a1 |l Geiie
ST STz STehcll. Tk T A x 3= A, 131 A = 0 Tea 5 omerRr=n
Ueheh 3ich TREAT TALTEUA A fohwa o foram samme. SR qeres eIt
| U0 TR @ AT TR 19 B, a1 S&ET TR 19x19
= 3614ql. Al 500 Y& e AR, T8 SR GUE WMl 3 U TR
Girel HEHl A foRAd 30x30 = 900 BIEd ST 500 W& HB! 3Te.
TR G TAI 2 38 deal 20%23 = 460 TehaT 25%23 = 575. FeU[A
HETE IR 25x23 = 575 AL,

T E

1. SR21358ABAT 99 o IUf 9N STAl O AT B forwa ral.
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4. () K+y)E+y)(x-y) () (a®+b>+c’+2bc)(a+b+c)(a—b—c)

(iii) 1+ m —n)(I—=m+n) (iv) (7x+§j(7x—§j

V) (X -y?)? (vi) (5a—b)(5b—a)

5.0 (a+t6)(a+4) (@) (x+6)(x+3) @) (p—7)(p—23)
) (x—-8)(x+4)

aeE - 12.3
1. () 8a’ (i) %x (i) 9a’b>c? (iv) %yzz
(v) —6'm
2. () 3x-2 () 5a°—7b> (i) x(5x-3) (v) 2P =31+4)
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(v) Sabe(a—b +¢) (Vi) (2q° + 3pq —p) (vii) % (abc + 2bc)

. . Y .27
3. () 7x-9 (i) 12x (iif) ?ab (iv) Zl(m+n)

v) 4(x>+7x+10) (Vi) (a+1)(a+2)

4. 1) x+4 (i) x—2 @) pt+4 (iv) Sa(a->5)
v) 1I0m(p—q)  (vi) 4z(4z+3)

Fu - 12.4
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10. (a) 0 (b) 30 ©) -6
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17. (2x3+1)+2x3=1+i3 18. (3x+2)+3x=1+i
2x 3x

5
19. (x+5)+ 3=x+3

20.

13. 3-D32-Dg=aw

FwE - 13.1
3. ) 5 @) 9 (i) 20 @iv) 14
4. (i) 3 =tuE=s (i) 9 =it.uwe (i) 16 =t.uws @iv) 14 =t.uE=s
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v -13.2
1. F \% E V+F=E+2
5 6 9 THTITERRS TS,
7 10 15 ’s
8 12 18 ’s
6 6 10 ’
5 5 8 »
8 12 18 ’
8 6 12 ’
6 8 12 »
2. ¥4 59 "R&Atadt g W FAd 9 a3, FEicaTd AT 4. T
5. F=20, V=6, E=12, V+F-E=2 6. ATEl
7. \% E
8 12
5 8
6 9
8. (i)vemrt fitfie i)  foEEm (iii) =T fRfE
(iv) Temegatad v) gl (vi) wesrHT fkfie
(vil) a9ca Tt
9. ) a,b,c,d,e (i) (a)=gFes (b) =
(¢) w/=Tw (d) 7=
(e) = & fromita aewsgat ame. ¥ waTd Frasfa et
O ==/ (r) = ffae
3. (a) st forcht (b)  srEsfa fal
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14. vz i o%s
g - 14.1
1. A 2. 107 3. 9m?
4. 72
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S

e - 14.2
() 112.996m® (i) 70m’ (i) 22.5m’
() 13.92m>, 13920 liters. () 5.2m?>, 5200 liters

(iii) 36.792 m>, 36792 liters.

() 262.144cm® (i) 2.197m’ (iii) 4.096m’

6400 6. 1096 cm’ 7. 110cm’
90 9. 27 10. 6cm.
15. @i d@
= - 15.1

. 2 % W s w@en1200, 836, 780, 4820, 48630

5 = s s "@e@n 1200, 535, 780, 3005, 4820, 48630
10 7 w1 s e 1200, 780, 4820, 48630

Ao @ foge I ft, SR €T 10 § WR WG S8 R ATEET 2 A0 S F gl W ..
(a), (b), (¢), (e) @1 2+ Wt .
(@), (b),(c)(d) =T s wwr .
(a), (b), (d),(e) =1 10 =T Sl

(a) 6 (b) 8
(c) 6 d 12
10, 20, 30, 40, 50, 60, ........ 7. 6
e - 15.2
A =2 5 fa 8 2. A=38

3. 90, 180, 270, 360, 450 =TT

7.

0F 9. smuma foga e &1, RIVATE TGS 2 F HRT STAT T ATel Feh Udhdh €A=AT1 €, 3Ra
@A ATe 5. 0 fat 5 6. 4
7 8. 0
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F=E - 15.3

[u—

(a), (d) =1 6 = AT S,
(a), (b), (c), (d) @1 4 7 T S
(@), (¢), (d) =1 8 ¥ W A,

> N

(a), (b), (¢), (d) =1 7 7 s fr.

5. (@), (b), (¢), (), (e), (D), (), (K) =T 11 F T .
6. 8= 94 Uk 4 = GEET Uk FEAT.

7. A=1, B=9, A+B=10

FwmE - 15.4
1. @1 45 4 AW S,
2. @181 7 R S,
3. 36 ST TATAT FAFAT AW STl
4. 36 TN AT FFFAT AR ST
5. 11 sfor 7 9 qf RN SATAE A= 11T 7 = OISR AE S
6. 5 3T 7 7 YUT AR ST q€E 5 q 7 AT UIERM AR Sl
7. TE wEHST S ATAT SoT 6§ HNT Sal.
8. QI TS AT AT SRST 3§ AW STl
9. 2 afer 4 F R S

10. 4 srfor 8 9 9RT ST,

11. A=3,B=2
= - 15.5
1. (a) A=9 (b)B=5 (c) A=3 (d) A=6,39=2996
(e) A=4,B=1
2. (a) A=5 (b) A=8 (c) A=9
3. (@ D=5,E=0,F=1 by C=1,G=2,H=0
4. (a)K=6,L=2 (b) M=5,N=0
5. A=8,B=7,C=6
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Exercise - 15.6

1050
620
216
n’—n=n@m?-1)=(n-1)nn + 1) 3= s s TR

(2n—-1)(2n) _

FAH fawm g@= a1 >

n(2x -1) ‘n’= TR

M+ 4y + M =3y 1 5 3 gof s s,
1+2+3+4+5+6=21

1200 =

3050

166833-18 = 166815.
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